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SECTION — I
oTqog - |
CHILD DEVELOPMENT AND PEDAGOGY
a1 forepra we framemes

There are 30 questions in all in this section.
All questions are compulsory.

A EUE H Hel 30 IH B |

vt wom arfam 2 |
Children who are deprived of minimum basic facilities are classitied as
(A) Delinquent children (B) Special children
(C) Disadvantaged children (D) Backward children
SHAH SR RN § dfed srerpi 1 e = 1 affera T sman 2 -
(A) 39 FTETh (B) fafore e
(C) whagpa sffeafars o (D) fr=s s
Which of the following is a behavioural symptom of maladjustment ?
(A) Aggression (B) Anxiety
(C) Insecurity (D) Apathy Erll
1 4 9 31 a1 U $1 HIERIH AL B 7 =
(A)  HTshTHT By fu=m
(C) g (D) QAT

Which method is NOT directly related to children with special needs ?

(A) Diversity of curriculum

(B) Development of sports and extra curricular activities

(C) Different teaching methods

(D) Training for special activities

ferd srrerzehaTalt et AreTeRt % ey i A faflr srews w1 & wrafm a2
(A) dreasRy &1 fafisfiem

(B) Wai%he 9 Afafeh gashd hafaferi 1 fawmma

(C) fira foreqor ferferat

(D) e nifafafer & fora wfrem

Learning disability related to reading is termed as
(A) Dyscalcuha (B) Dyslexia
(C) Dysgraphia (D) Dysthymia
ygH © arafia A sema | FI AL |

(A) feehagpfomn (B) Tewafaaan
(C) Tegiftn (D) Tewarsfir
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Which of the following is NOT a process of learning for children ?

(A) Reflection (B) Argument
(C) Maturity (D) Imagination
71 5 1 1 ot arerni o fordl srferm <6 afsren 7 2 7

(A) WidferH (B) @&

(C) uftdaed (D) eIl

The concept of reward and punishment in learning 1s introduced by whom ?
(A) E.L. Thorndike {(B) Kohler & Koftka

(C) B.F. Skinner (D) Albert Bandura

ferma 1 qrehR o <ug Y e fereh grI sarfaa e 7

(A) 3.U9. gieTsH (B) SHIgEH & HiFHI

(C) .U, ThiT (D) e a5

Which statement is NOT true for the concept of learning ? 040
(A) Learning is the change in behaviour.

(B} There is a relatively permanent difference.

(C) Learning is influenced by practice.

(D) Learning is an innate mechamsm.

Frferm & Jraumon % o7 1 1wy wea T R 7
(A) e sreE  afEda 2 |

(B) 3UEATeha &9 & TUTet 3= ufterfiad 2 2 |
(C) e srem gra wwifad g 2 |

(D)  ferm v S=waTa fsma 2 |

Classical conditioning theory propounded by Ivan Pavlov explains learning by

(A) reinforcement (B} association

(C) imitation (D) insight

39 Uiaera gr sfafed wrefia serum fagra arfrm i fom o g amgman 2
(A) TFeH (B) wigd

(C) gH (D) g
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()

Which type of teaching is NOT based upon objectives of teaching ?

(A) Cognitive teaching (B) Descriptive teaching
(C) Affective teaching (D) Psychomotor teaching
Faveaon =t <t w1 Srepm fveaon % sevEi o et R ¢

(A) @IS (e (B) aviTeneh faremr

(C) wraTcHS & (D) TARTeTeeh fareqor

A group creativity method for solving specific problem by gathering a list of ideas
spontancously 1s known as -

(A) Brain storming strategy (B) Mastery learning strategy

(C) Problem solving strategy (D) Heuristic strategy

Fafiierar @ feram <6t <=t 3 wwmmm % R fafire waen & wmam 6 wyg AT fafa &
el ATl &

(A) wierss fawra g (B) W@ FH AT mum

(C) @ gy Ik (D) 3= Ffee >

Which process 1s NOT directly related to role of motivation in classroom learning ?

(A) Knowledge of progress and result (B) Interpersonal adjustment

(C) Praise and criticism (D) Level of aspiration

et e 3 arfrdeon 61 sifient form gfrn @ goae €9 4 wrafE 7@ 8 7
(A) wfa aur i =1 JH (B) IFadafches TS

(C) S9IgT qT A=A (D)  3THIET T

Concept Mapping in Education was introduced by whom ?

(A) Carl Jung (B) Martin E. Seligman
(C) Noam J. Chomsky (D) Joseph D. Novak
foren 7 sraumon amfaem fress g genfad feen mn ¢

(A) il 1 (B) wiféa €. Afermm
(ORELER =3 (D) <O €, Taws
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(6)
Which statement is NOT true for Right to Education Act — 2009 ?

(A) Free and compulsory education for every child between 6 to 14 years.
(B) Provision of School Management Committee.
(C) Constitution of National Commission for Elementary Education,

(D)  Minimum 60 hours of work per week for a teacher.

foren w1 srferer srfufaam-2009 & ol @t @ s g A8 2 7
(A) ©: ¥ =Igg 99 Yo aTcrsh o ford Frovpess 9 srfamd fren
(B)y faerera yamy afufa =1 waum

(C) wufyes foren % forir o smam =1 mem

(D) 1=Te & fordt wia wwmg =Eaw 60 =val F1 wE

Who has NOT contributed to the development of Action Research in Education ?

(A) Kurt Lewin (B) B.R. Buckinghum

(C) Stephen M. Covey (D) Stephen M. Corey

foren 3 Brarars e % fasrm 4 foram dmem & o ¢ mm
(A) Hafem (B) 3w, sfhem =
(C) WHA TH. (D) %A UH. &

Which level of measurement is least used in educational psychology ?

(A) Ordinal scale (B) Nominal scale

(C) Ratio scale (D) Equal interval scale
foren weifarsmy o form Tt & W 1 =g SR feRn ST @ ¢

(A) shHeEs AT (B) ik wref

(C) e Ao (D) WHF H=Te HT

Which is the main philesophy of National Curriculum Framework — 2005 ?
(A) Learning vocational skills (B) Learning without burden

(C) Learning co-curricular activities (D) Continuous and overall evaluation
TP el FREI-2005 1 JET gYH F g ?

(A) SHTEHTIE Farerar HiE (B) e &gt < i

(C) wg-sterfores nfafaferni i i@ (D) Gaa vay S Yo
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17,

18.

19,

20.

(N
Which method is NOT valid to study the role of heredity ?
(A) Twin study (B) Parent-Child analysis
(C) Adoption study (D) Peer group study
SR <61 sftehr % s % ferd i o faf du 3 2 7
(A) S[eai o=l 1 A (B) ifivmash-arers fawerau
(C) <Tsh-Ugo ALRH (D) HHIT=H G AT

The observable physical and psychological characteristics of an individual is termed as
(A) Prototype (B) Karyotype

(C) Phenotype (D) Genotype

s A B a2 el g aur s fasast & % w1 1 ufofea fen
SR |

(A) WiErersy (B) hRARTEI
(C) FHRREY (D) TR E-E.'

According to which perspective, child development reflects a specific and prearranged
scheme within the body ?

(A) Environmental (B) Social

(C) Biological (D) Psychological

forer afttlex < 1gam aTe foehm TR =6 arat v farfire qen qeeaafevm wonedt =i gaiar 2 ¢
(A) St (B) ®mIfeh

(C) tferen (D) SIS

Which of the following psychologists is NOT related to theories of child development ?

(A) Jean Piaget (B) Abraham Maslow
(C) Albert Bandura (D) Lev Vygotsky
fore w8 2 A e 3 g @ wrafoera 7 2 7
(A) i o (B) HsiTEH Hiwl

(C) ¥ead Fgu (D) o IrETieeshl
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24,

25.
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Individual differences in temperament are basically

(A) Learned (B) Innate
(C) Acquired (D) Cultural
e 1 aafea fafvead snumgm w9 a8 BEt E
(A) Al (B) S

(C) wrfidia (D) Wi

Who has NOT propounded any theory of personality ?

(A) B.F. Skinner (B) Sigmund Freud

(C) Gordon Allport (D) Ramond B. Cattell

ferut saferea o fepelt oft fargra ot wfafea i fpan 2 7 EEE
(A) .U, T=hH (B) Tamve wrrs ®
(C) A 3T (D) Twugdt, %A

Which test was created by Henry A, Murray and Christiana D. Morgan ?
(A) Sentence Completion Test (B) Sixteen Personality Factors
(C) Thematic Apperception Test (D) Picture Frustration Test

T . 3 qen frfeeamn €. ot gro i o wiem fFfdq fem e ¢

(A) dre Ifd wie (B) Hictg safthed 21T

(C) HYTTh WAL Fiiero] (D) o puat whem

Which factor is NOT related to growth of a child ?

(A) Nutrition (B) Health
(C) Sleep (D) Domicile
Th <IeTeh bl IEg & Hi H1 i Frafd T8 & 7

(A) 9o (B) w@reA
(€) T (D) Aferard

Which dimension of development is influenced by the theories of Noam Chomsky ?

(A) Language development (B) Moral development
(C) Emotional development (D) Cognitive development
faepra =1 61 1 3T AN 9faeht % fagral @ wafaa gan 2 ¢

(A) Wl fasm (B) e fapm

(C) wrafien fawm (D) @t fawm
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27.

30.

9
Which intelligence is NOT included in Gardner’s theory of multiple intelligences ?
(A) Intrapersonal (B) Naturalistic
(C) Emotional (D) Existential
st gfgrmat & mEw & fugra 3 #5 w@ gfgua aftifoa w2 ¢
(A)  ia:dafes (B) WiHf®
(C) wafie (D) el
Creativity is associated with which kind of thinking ?
(A) Overthinking (B) Meta thinking
(C) Reflective thinking (D) Divergent thinking
HATETHAT fa= % S 8 Y & gafRe 2 7
(A) Tty Fa=H (B) fy-fa=m
(C) Tersft feamam (D) Ert o=
o0
L _— =
The term mental retardation is replaced with which term ?
(A) Intellectual disability (B} Mental weakness
(C) Intellectual backwardness (D) Intellectual disadvantage
e fanf=<m ue =i fra ug & oy gfarenfuq fFmn 2 7
(A) wifg® smmerm (B) AmfHeh HAsHI

(C) diifgs fregma (D) sifge gfdperar

Which of the following is NOT true for the theoretical concept of personality ?

(A) Stable (B) Normal

(C) Enduring (D) Unique

sfcheal i Agif~ieh raumon & fod i a s wm o FEi 2 7

(A) fen (B) OH=

(C) Tarf (D) F3

Which test is culture-free Non-verbal test of Intelligence ?

(A) Group test of Intelligence (B) Weschler Adult Intelligence Scale
(C) Bhatia Battery (D) Standard Progressive Matrices
hi= @1 Fem gfgman w1 Gepfa-ao 1 -arfas wam 2 ¢

(A)  dfgw =1 wg e (B) SITeR aFh §fgH ATt
(C) wifear et (D) Wvse iy afeas
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32.

33.

34,

35.

36.

37.

38.

(10) PL-2
Wlg - 11
YT - 1

f&=d

THEUE T A 30 WH & |
avft w safrard € |

faenféii =1 gl & mem § w1 i ge w|@hEi v fafy s e s 32 e et
wHivrel § &1 foma e 2 | 21 fafy =6t =5 wren 3

(A) ST ST fafér (B) w1 gai fafy

(C) g - fafe (D) & fafy

STee UoTedl <1 aATfearshr fopaa fopan 7

(A) fToretfes (B) eeeAd

(C) wweHd A (D) UFhEH A

o] 39T % AR foren 6t Frodt uferen 1 wftferq 7e 2 .
(A) TTHTRITRTT (B) AT T Eﬁ
(C) &I (D) FER TfEd

et IerE ol YT Id F1 8 7

(A) 3rera ferad g forerss faameff i ggma 7 %t |

(B) IeTE TR Sieieht fr@amn S |

(C) e # 31 6 srae I & B wnfzu S 6 aesl crm A A |
(D) I wfi fasen Tdt 2 |

AT~ 218701 T 379 -2 |19 & —

(A Tua fawares @3 (B) UWHIHE

(C) =i (D) AT

ST T UTGATET b AT=diieh B9 § Aferd awa 72 & —

(A) T (B) T gt

(C) Toeg (D) eft

frefafiaa 4 9 ym R F A B AR ?

(A) e foreor 4 gfd (B) w&TeATd % foru srae
(C) fobeu(A)uwd (B)gRiEdd | (D) T & IS T

T & Tifige Tianai & e -

(A) U Freres U 509 1 U 21 B o Wi o Hehel &, 31 THI AfH a2 |

(B) ifige wliensti sl sy &l S < wehdi |

(C) 3 wdienaii & foremedi < @ w9 S — g, Teqt 3R SeH F1 U w1y 9 fE
S HFHATR |

(D) & wlierati o faenef & @ Hive &1 qr9E T8 S dHhd 8 |
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39, fr=fafiga o o sTafey ofew & fmiv ag et i a s o ae A8 2 7
(A)  YET AT &= | (B) 9{teqvT <5 SRV w9 shi TaET ST |
(C)  wlteror =1 qAfegor (D) & T SR
40. Haq Ud ST YediohA JoITel! 12N 2 :
(A) Fcd GHATR § 8 areft e (¢&2) | fermedf gt 99 sl T & |
(B) e fereneff 1 smavas Héym vd wwmst i 2 w@a 2 |
(C) fermeff 61 319+t it o1 s FReR B war 2
(D) foremeff o ad sy olieqn =51 s = a2, forem e wmfers fasm wwfaq gan 2 |

fraferfiga werer <6 YR W TwE W@ 41 9 50 9% 5 I A

T TET 99 WA IO 9 3N Bl 8 O i@ 9T Ush 31 a9y h1 97, 3mey %
IR, ¥ B @ B WA il cdein I AT % @y 1 gard @ 2 dl gl 3l
TEHIeqedT <1 2d1d &dl 8 | faa1 ifees a8 et g, 391 & sifuss 98 sat camEl =1 giaty
T FY T, =1 a1 & 2fers Heet Bl | 9ok STTHN I8 T U a1 498 Wi wagH! =ifze ff s
TR foram w61 wafea sm, 99 I8 avash T8 @ fh T T haa oAt 8 e 3w & w®
Ffrma e ism A mE R | FoRefFmfmat firmidmw
Fa<ad 1 gata i FEW | o9 T8 <ard 30 fohaan 3R Y ged I, 98 wH fern S w1 HE
Y= 3 Fa1 | 98 @1 A & 918 B FH1 S 2 o w®n = wen 2 ) W 3 wernta 1 18 ffaad
Ted 2, 3R 35 Ut == ot it €, foeeh wfa T wamer o= @ |, 98 sevEs A8l | g S
gl 311 2 Tob U 18 fram 7 2 fo6 oA adl 3t 3a1 & St TS onaes 3 9@ 2, 98 9 @
AT 316 ot St Gerdt 2 3 i -Har Radta st s gt 2, 3991 B 98 2 | 9 srE=ad
Tard 39 AVl i A1 W S 394 99T Sl @ | gerdl J haEd @ o “faa g, fafem ug”
92 73 2 | TP STk ol Aue 331 9 % wie oft, fteT mrelt & seem @ awe’ dene <6y i
SoTEl S-eht 1@ 77T |
41, TIEY wreg Ieafel o AMUR W E —

(A) de¥d (B) dcHH
(C) facsh (D) &I

42, ‘guTHT 1 qAtgerE vee 8 — g'ﬁ._l
(A) A (B) 941
(C) w9 (D) T

43. foraehi wae % w1 argyfa g8 € 1 e & foe Iuge wee @ -
(A) wgd (B) =&AL
(C) wddfed (D) Ham
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47.

48.

49,

50,
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STaTash’ 9768 1 Tareim vee s 3 foTu e a1 3uE S e 7
(A) A (B) A
(C) 3 (D) 3

LY

AWy’ veg H§ Wgdd Td & —

(A) & (B %%

(C) 7% (D) fus
‘Tafgamed” ooz 9 wfr 8 -

(A) U HEY (B) & dfy

(C) T EfY (D) dfg&fa
frafafaa wrdi 1 3 1o =& 2

(A) wifern (B) & Lﬂ,%'ﬂg
C) T (D) T ®
‘AR IT6E W i A1 AU B 7

(A) redi-wra gqE (B) dcqed HUH

(C) =g oAE (D) Tom T

‘g8’ e 3 G & —

(A) TreegarEs gdam (B) HeuaTEsh gda
(C) Toraras wdam (D) FAfvagaras ga4m
A TR AW E R 7

(A) SAfFaaras g3 (B) wifear=es g

(C) <garaeh Gl (D) WT=ETE® G

forafrfiga Terer < SMER TSP FEA 51 6 56 T 6 YU 6 I I ;

T, O, TEIEE 3TR & <A1 WTeHT B TE T 25 & Hhiviar & ST S Hehal @ | auft
%D UL FI 8 A1 UL U 8 il 37 Gl Tl o A& TP & S & a3 7 | TP 2 i fafi=
urerd £, o &, U= 8 SR afaat €, ara: up o fEa # e v weene @i st qe @
&1 =gy | wifeed R0 ¥ SR Bud 2 wife ariged T gedli S aur A4 @ g § |
a8 =Afaa =i fafu= it § fenfora 78 ean | ‘o 6t v’ o et 89 6 afts 2, @@
Hfaal 7 Aifse 61 3171 fawnadi gro el i sef B g N w1 3 | T8 IR ot gam
2 T 3G s wd Y fews 4@ gar | wen R wifger w1 A sl TuR-vEw @A
TfEu | FA9TT HiT-THEA, Targ, AR au at-amisi & g wgE on ° TR e
3R TS T AT TSI 8 | GHTER, -, e, g, feew anfe arem
T2 1 IR 2 SR T IrE oft 7 @I B | firel T AU gren’ vities T safad i g
FIAT & a1 TY F i 0 g9aq B4 % for OfE e 2 ) 3 veR % A afe aeetie
TETd, ArfEed TEATE L A T Y 1 g9 Uhal o FF H 914 Tohdl 2 |
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51.

52,

53.

4.

35.

56.

57.

58.

59.

60.

(13)
‘sriferal’ srea w1 UsEE B0 ;
(A) STl (B) S
(C) STretat (D) mfd
“ferrardl’ vreg o1 319 2 -
(A) et (B) w&TTeR
(C) w&EE (D) mTfaa
‘TR RN W AR TP A FER 7
(A) TVTET g9 (B) 3TSTY S|
(C) i IamH (D) TH FAHH
“Teen’ reg & - |
(A) 3wafem (B) gfeem
RO N . wym
(C) AgEhfeA (D) S 5%5
‘safed’ 1sg o1 Sge= %9 B :
(A) safeas (B) eafadea
(C) =aferai (D) SafFs
TSEUT =6 “YTET 916C T AT o< F9 2 :
(A) HIET (B) m9m
(C) w9 (D) T
I I E
(A) 3% (B) fadm

(C) fbeu(A)wd By ®t €1 (D) 3 & IS T
S AT Y@ 3w Ud Y& T | s 8, 98 FEerd 8

(A) THTEAT AT (B) znfa 3wam

(C) T YT (D) Y 394

2t F@TEAT gRTe o 7Y 3 |

(A) 9HEIG AT (B) fesuent weaa wn
(C) T8I AT (D) &4 TEAT

“OS- Tl # Sfta feramn & 312 | 3uge diehifad 2

(A) 391 & /R 9€ (B) A9t S IR IaHl
(C) 118 HAIT Al ez (D) 73 IR 1 AR
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

The exercise of listening skill is

(A) Sports commentary on a radio (B) Advertisement board
(C) Pamphlet (D) Poster
Which one of the following 1s a measure to improve bad handwriting ?
(A) Use of ball pens (B) Wrong habits
(C) Proper posture (D) Writing carelessly
is not a technical characteristics of a text book.
(A) Proper spacing and margins (B) Good quality white paper
(C) Lengthy texts (D) Readable size of the letters
‘Blackboard” is the aids for teaching.
(A) technical (B) cheapest
(C) modern (D) physical O]
=
Audio-Visual aids save
(A) money (B) interest
(C) effort (D) wverbal input
Students improve their ¢ritical thinking in
(A) peer assessment (B) portfolio
(C) cloze test (D) writing tests
CCE 1s carried out in classroom.
(A) strictly (B) formally
(C) informally (D) timely
CCE is not successful in
(A) private schools (B) crowded classrooms
(C) small classrooms (D) government schools

For a good test in English
(A) language must be lucid and clear (B)  the text-books must not be used
(C) the questions must be complex (D) the questions must be simple

‘Matching Test’ is an example of
(A) Short answer type (B) Long answer type
(C) Essay type (D) Objective type
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Read the passage and answer the questions (Q. Nos. 41 to 45) that follow :

A marriage as carly as that was the last thing on her mind. She threatened her parents
that she would never marry if she did not get a proper education. She left home and got
herselt enrolled in a school in Delhi. When her parents refused to pay for her education, she
politely informed them of her plans to earn money by working part-time to pay her school
fees, Her parents then agreed to pay for her education.

41. The synonym of ‘refused’ is

(A) granted (B) denied
(C) permitted (D) allowed
42. The antonym of ‘politely” is
(A) courteously (B) humbly -
(C) rashly (D) angry 5 e
43. The correct spelling is
(A) acadimision (B) academician
(C) acedamician (D) academision
44, The verb form of ‘enrolled’ 1s
(A) enrol (B) enroll
(C) enrollment (D) enrolment
45, ‘Part-time” stands for
(A) working less than standard hours (B) working in parts
(C) working in obligation (D) working for no remunecration

Read the passage carefully and answer the questions (Q. Nos. 46 to 50) that follow :
Friends had conjectured that the bear would not recognise her. I had thought so too.
But while she was yet some yards away from his cage, Baba saw her and recognised her.
He howled with happiness. She ran up to him and petted him through the bars, and he stood
on his head in delight,

46. ‘He howled with happiness.” The underlined verb is in tense.
(A) Present Simple (B) Present Perfect
(C) Past Simple (D) Past Perfect
47, She ran up to him and petted him through the bars. The underlined word is —
(A) nterjection (B) conjunction
(C) adverb (D) preposition
48. Choose the conjunction :
(A) her (B) within
(C) the (D) but
49, The determiner is
(A) and (B) had
(C) the (D) wup
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Choose the correct comparative degree of “happy’

(A)
(C)

happier
motre happy

(B) happiest
(D) most happy

Choose the right question for

She sold all the articles for no profit.

Did she sell all the articles for no profit 7
(B) Did she sold all the articles for no profit ?
Does she sell all the articles for no profit ?
(D) Do she sells all the articles for no profit ?

(A)

(C)

Choose the active voice of

Saina had been supported by her maternal aunt. U0
(A) Saina supported her maternal aunt. =
(B} Saina’s maternal aunt supported Saina.

Saina’s maternal aunt had supported Saina.

(D) Saina’s maternal aunt had been supported by Saina.

(©)

The saint chanted, “God 1s great.” The indirect speech of this sentence is
(A) The saint said that God is great.  (B) The saint told that God was great.
(C) The samnt said why God 1s great. (D)  The saint said whether God 1s great.

The word for the phonetic transcription / 1'mi:diatli / is

(A) emidiately (B) immediately

(C) imitate (D) immediate

The number of vowel sounds is

(A) 8 (B) 12

(C) 20 (D) 24

“The knowledge can be stored in mind permanently.” This principle is termed as
(A) Aptitude (B) Gradation

(C) Concreteness (D) Selection

Words that are understood and constantly used form

(A) limited vocabulary (B) active vocabulary

(C) passive vocabulary (D) constant vocabulary
Dr. West’s comprehension test was

(A) non-linguistic (B) linguistic

(C) comprehensive (D) structural

Variables can be interchanged in

(A) Simple substitution (B) Compound substitution
(C) Grammar (D) Phrases

PL-2

‘New words at early stages should refer to objects and actions which can be shown and
demonstrated in the classroom’ is a precaution of

(A) Structural Approach

(©)

Bilingual Method

(B) Situational Approach
(D) Direct Method
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g — |1

HNET -1

TP,

a3 e o ==
Hd g9l g |

“Aeaen e 3fa 5y fafem maafa ¢
(A) FEERfafm (B)  mmAFEAERE
(C) wcaefafum (D) amafemfafn
“wfeTid e i f fhgead ¢
(A) Toeameem (B) WISARHI
(C) iferm: (D) ATy
HEHAUTIT ST JHE i et ?
(A) et (B) deETit
(C)y =4 (D) <
TEFATIE AUy %: g ?
(A) TITHIE: (B) "R
(C) wiaepfa: (D) taf-firena:
TEATgAE YT fafery sremesToiamn: s B s ¢
(A) fafgamdiemam (B) witfigeruiiemamy
(C) WrITTRueTTy (D) TEATIRIEARET
TEHARNET ARG AT —
(A) v fagra: (B) Framsfiemmn: fugr=:
(C) w9: fagra: (D) fagde= fagr:
ATTHATGE: Y9H giaeEy At -
(A) Trfiwong (B) IgrE0oH
(C) fram: (D) wdieqorg
HINTAT: STufteriiey sivemfe —
(A) oI (B) avr
(C) dreq (D) 93aq
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39. waaqeatg e geerd fag vafa 7
(A) TEHATHCETH (B) T9urq
(C) (D) Ty

40. ‘FEEE uae) seafar fadt wmigd dmmmfe -
(A) q& (B) HEITSUY
(C) @y (D) &y

frefefigan amfad memem smatise 99 (41-45) GaEEn: -

T W A gagfa: | wae S gepeliRmfor: farert am amfies: fvea | gfear 7 agEn
HIAYH: T Palf | T TR TFHEIc] Ua hATHARI A8 & 31ie | 37 fesaeums
A wfufaase=g: A waifaa: Sm: | 36 9: 9g didl U@ Tad <O 3UTesd. | 3R W
fcmTiaes siiviifores arTferes = TiE add | e Himed g ST |

41, “ggmera’” gead o favfe: 2

(A) ST (B) gt
(C) =g (D) |
42, “quin:” TeE af-fasge: s |
(A) T + fas: (B) T + fuTa: o
(C) 4 + Afs: (D) 4 + 3 ﬁﬁ

43, “foued” s & @R 7
(A) @I ABR: (B) o SihI:
(C) oI TAHK: (D) fafufers awr:

44, “uwifaa:” soud & T ?
(A) o (B) 3%
(C) (D) A9

45, “gavifu:” 9 @ IO 7

(A) I (B) deges:
(C) wgiife: (D) T
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freferfiaan srafed marem snurese frefgan: s (46-50) TmeEn: -

TeRee Wfigaiy SeereR fd wengt wvtmrdam. e fafiw g afa |
e e dirafd atemng: it q et e waty 29w deesrageaeafa | ardid: e
FeforT: AT eaTNTEEH, YREeRd, WiEiETE™ R Sgan TR THEETEE 9 fdad
gt< | favafoemay smofasriaumm-Teere afiie Darasermt SaaHsue gy-RaHd
A |

46, “SH9C” 30ud &1 faafa: 7
(A) W (B) d=Hl
(C) 9y (D) HwaH]

47, “Tvaf” g argifed —
(A) ¥ (B) 39
(C) =g (D) g

48. “gETH THEY A Thled 3id hH 7

(A) oo (B) fersrom
(C) gy (D) HargeTq
49. “gin” o= for forgm arfea ¢
(A) feerg, (B) qEehicTgy 5
(C) Shfergm, (D) 3Iwafergw B
50. ‘3T’ 3t Wifgaue & af: 7
(A) TrEf: (B) dreigfe:
(C) avfa: (D) gigHfu:
51, arerh; g uafd | o tanfgaue fafeforgesmmesy wafd -
(A) 93d (B) 93q
(C) 393q (D) dfgsafa

52, “wuorafa:” gfq sepd e dea agEm 7
(A) 85 (B) 96
() 78 (D) 65
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‘T 3fa aviea SR Ry 7
(A) @< (B) aitgt
(C) g (D) wui
ﬂﬁﬁif@ﬁﬂm:aﬂf:iﬁz?
(A) 9 (B) =
© 4 (D) 9
37 Wafe —
(A) =ASHTH (B) T
(C) IFE: (D) wraa:

“qrgufd o By EAITT TR AR 3o ST HEhAaTE hd —
(A) Tgdd: 98 JMfd: 313 A |
(B) Trgufam wig TAmfa: 3w |
(C) Trgaferr wg FAmf: ST |

(D) TP T8 G AT | B
k4]

Tanfyd aeafide weafmiv g

e o gt |

(A)  form et et | (B) Tiren svemmq A |

(C) o e geafa | (D) fora %A gpeafa |

T T v ATeRIfiTE HeNOE |

(C) o =;: R (D) = e

FEN: T 281 S LT IS HATGA |

(A) 7€y (B) =&
(C) (D) 4
ferernsyay | frerreerm ofd o |

(A) AATTES (B) IIeqd
(C) Trefd (D) #Sfd
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(C) feaaras Ju< f&9 Aorfed (D) <9 g% g5 &9 Rafea

Jaft nE wroaH ESTS T AT &I J ¢

(A) famesr

(B) Ha™EA™S 58T

(C) Y=yl set miofag g & 98 =293

(D) HefeasT
[E
Sfoni 29 fave a5 firrSe a5 Hdfos fadt & ; o
(A) e oA o fedft (B) g fierGe fedt
(C) gu3-Ufms Ftars2sr fadt (D) Umersnl fedt
& aus © feam sl 99 St fafanr 7 ¢
(A) ¥Hod fous (B) wurt dimes
(C) FHS (D) gsfou3s

I fifepT € §39, ‘Ugs I vin %" &t Beges 9

(A) §97d AT BR &g g @ »ifarrs IR S g agerger |
(B) Gugest 3ulggm g o fmrge |

(C) ufgdst fearet T7a 3 »ide 3ad Hew 3 feg niva fgBe |

(D) WISHED, Tdt, Tant & fmrge |

I fife & oy onrgr fitve fedt fam s "Swrorfas 9.

(A) wefeazTer faa3 (B) fafon diezr o fags
(C) wWau33IgHe fAgg (D) EBIBE T3

2% famrarsfua Tu = Gent <t yrudt ¢t Quireft ifimr 3

(A) Tedarsufa Y (B) =W G3asfia fifimr
(C) =nsfars e (D) f&du &ys varggm iy
Wi Y o Gem st 3

(A) 189 JYTeT 995 &1 a3 T HSas

(B) wfanft it 3afaa 3 535 gadt © feam o famrrs
(C) v+ fearet &t fifipr F 3wet s& 779 |
(D) yo= ufss fer eng & 53 A f&g gaaet |

https://www.pygonline.com


https://www.pyqonline.com/

B

39.

40,

(30) PL-2
yuarsfie udthie & Sadta 3
(A) <fsa araar &t fsarad? (B) €98 fea fammwageray
(C) =ngfens ifemr (D) eBas fedt

6193 A=g, B »3 G998 378 afe3T ¥ T96 996" © W& oS &o! §3H Yiftpwr fadt 3 -
(A) wAgfems fifunr (B) fadursfua ifun
(C) Wiga fifagmr (D) fouz ifem

(41-46) T B UG U A AT S 38T 41 346 37 ¢ F39 el :

HZT I HEY 2 126 375 Fur HEU J | 99 QHY, I3 DA 2 S I IS gfe3 I 96 1 9&d 3

I3 feg e g AUz’ T idls TRIeTJ | g g drfugt g I o g ugt wrder 7 | filg
9 *3 83 A fugrdt vy Gen rear »mud ugre dHT3dl Uoe 3 refuz gaet J | Hegs feae @
fuzft 979 3 wearGer &t BT 79 & AEa fifue et agdt Heer 7 | Jame dhrf & 83t 9 dardt feanr
w3 Afgnrarg gl Sfenr I fage fusrdt & 43 g7ea St afsse gefor g |

41.

43,

44,

(A) wuHl (B) gt
(C) @aH (D) fi<ht

“HY3T IHT &8 HEU dyT BT BEl Wi e HEe J ¢

(A) oHT3d (B) wi3ggd+T

(Cy <t (D) FIadt

Fo9 T ieTfiEEe I E'-E.‘
(A) dar (B) w43

(C) FaF7 (D) IHB

WHIASI BAT A T HEL T

(A) 3w (B) wfgge

(C) He@E (D) HAEH!

‘TS HEE ¥ HdEd HEe 5414
(A) wrer (B) drfae
(C) fHawsdTd (D) TF&

https://www.pygonline.com


https://www.pyqonline.com/

PL-2

46.

(31)
‘GON’ HEY T AHTEIES e J :
(A) Sugs, afem (B) dm-adls, 43
(C) T, Quams (D) afim, ST

(47-50) 35 fod g sug A A s 3ug 47 50 € §39 fef

i yeT <t Ae 2 231 G371 fore wifefamrfad 3o 3 | for owrar fefenragt &t fanras

o7 At wieT adt sarfen 77 AT | ferfsas It agt aafea fefonradt 941 699 &  Hige fE9
W e 36 | iy fefenradft 38 & S8 90 2 g6 w3 gfews fefenradini Tr vara €76 95 1 feg
I3 Afed AH™ St JdidT &1 J=ar |

47,

48.

49,

fonaz’ FEe T nEE J ;
(A) feaa (B) Ha™f
(C) wWafrazr (D) Gar3T

W HES I MIE J

(A) §3& (B) "MEHS
(C) gdtval (D) fagdt
(A) d% (B) =

(C) wd (D) wHls

“feg 379" AfPdd FH™H BET 991d" &d1 9=aI |” — 9 &7 7% FUHE 94 :

(A) FRyaB (B) 339
(C) FISIHEIAS (D) furfasas
‘FHST 34 3 381, & 481 &7 sl

WYTE T HS MEE T

(A) e gIdt ferer Jar I AT A Far 3= |
(B) "o gl foyeradfiggdean 2 |
(C) vead fangod foy= Ty yae |
(D) we e gadl feuer s ags THT = |

fHIE3 396 T5 WS IR U a9 Jt 727 J | 39 129 w'e Ho'=d ‘T3IAT U9 998" =7 wIg
T

(A) tdugags (B) =g3 2 niag W faas e
(C) W< H3Ha dH I35 (D) & 3T AT AIST

https://www.pygonline.com


https://www.pyqonline.com/

n
h

36.

57.

60.

(32) PL-2
‘Tz finm iz e g " — = &S e 95 .
(A) W3 fuz (B) #a fuzrsft
() fuzrHftfizae (D) #AZIT TS |

79 &9 a5 -gua win & ghiar fog @t 3

(A) wafea fafen (B) HaIsa fafanr
(C) Wy fafamr (D) gusd fafanr
(A) H (By ®
) = (D) ¥

o2y g 1 99 34 fE9 fadht wsgr It 05 2
(A) 14+10 (B) 16+ 12
(C) 14+8 (D) 14+ 12

Sz FIe g g an tyrasr 7
(A) dedgn (B) fidarg an
(C) H3aH (D) ST IH

Haar fangr e Al g= g ?

(A) fHergan (B) @ IH
[or0
(C) dan (D) W3IH "E‘ﬁi
380J:
(A) =a9fad (B) w3fax
(C) afsa (D) wEfed
gt ggar gar J T,
7 2391 @5 Hafadt |
Gz 3o I fqoz mdaa T ?
(A) Guwr (B) &y
(©) fmess (D) Fua

https://www.pygonline.com


https://www.pyqonline.com/

PL-2 (33)

WS - 11
ouML- |
eyl
L ASHLSE 30 WAL 6.
% > ~ ~ : =
& €38 Uil orellod 2oL 5 8,

31 dedl AseilHl aeisEl Wiz st QadBls Al LU Ml 249 5 9
(A) RSl (B) dselaal
(C) stAsial (D)  «wEs1aL

32, gAML Yrds 2idRs arol sy s ¢

(A) s (B) ¥HguL

(C) [avauarg (D) el
33 Al s o [azisA 20 oA-ud 2

(A)  Adpilzl (B) M&MId

(C) £& Al (D) »sul [Rula

34, o, nLiAl, BssRS Slu ol Gl edal HIZ QMRIdL RigHn 2 5% 6 9
(A) Bgouz Ruert (B) @tadRel R
(C) el Rt (D) el FagA

35, pAYzs AL 58 ollold HEEZY A A 7
(A)  [deuell=Ald 2224 s3el (B)  [R1aas-l Hdnd 2] 524l
(€)  [euell-u ald Slaeadl Fsid s34 (D) BigisA yd daEl sza.

36, U0 502 iR [Aznedlu su Slaed Weais diadl B a6 ¢
(A) Al (B) <l
(C) su- (D) am-

37, ARi-Ail 53 2431 alind 2161l el ¢
(A) viéaa B) [Foin
(©) [Frue-lrar (D) 2106 34l

38, [Azuelll alind il asmell sz Alamiell sausiAnwAl ag Gyl vA 6 ¢

(A) sl 3lisdl (B) otglised
(C) 251 Gk UsIX (D) [Aota usiz

https://www.pygonline.com


https://www.pyqonline.com/

39.

40,

(34) PL-2

o[zl 3L 53l AP AR 585 oUoAdHAL AMIEL Al 2] 7

(A)  [Avudrg UG PRIeIR (B) S, MHIEL ABIGIR
(€) [zl Gyz wwisl ez (D) WA USIR WHILRIMIR

ARiArell s A g1 Eaell4 aHaaed eisd a8 w5 © 0
(A) sl Wil (B) 2avels
(C) usuadl (D) Hausid

U IELLLAL DAELR WH 5HLS 41 20 43 el ovallo 20l :

VA5l W W H L e Sl o, R e e st-tufe 2l avdl. sl 2u e

HEHA BU 5. o2 lEAUn YL 2 el D51 AL A2l d S QR UHSAUOL otiadl, 21 o Zld

A5 Gl 41651 e UKL UL AU, A HOAAHL, SHRAL ARAAL SRAML S 244 516 1

AL DS 26 vzel AR, d2g d SRl Az WS Ul Hiddl-l Wl 25 sul R

L AU o1 Sl 2L HOARL S 7 LA el 512 54 visiadl d awllat, Al welz dl Zld szl

et (sl L vt dAl el A0l AHEL HEAL 5REL AR 20 55,

41,

42,

43.

Qe SO Wizl WAl A3 58 6 7
(A) ®lsBldl (B) zeisl diuq

() R (D) ollav-

ASLAAL HI2 ALIUHL SLAL-51AL BELSRBL 2AMAML AL 8 7 A1, [Aei L.
(A)  oMlEAUNL, FAUSAL, v HOQAHL, DAL

(B) =adiedal, sizuilazuo

(C)  2RMAL oM@, 2l El =
(D) A, Sl 2URMAL 345

2AME Al A1 2lls 53 wandl asi ¢

(A)  =AsiUdl-Al Ul (B)  HiAddl-l 2l
(C) sl ub (D) Sl ub<d

https://www.pygonline.com


https://www.pyqonline.com/

PL-2 (35)

ALRLAL MELUAL AR WHEHIS 44 2] 45 4pllAL oL 2404
22l (% % dl 23ll 531 il
2L 2H {1 HeAHL HIL vl |
[y et 2488 2ga 24043 530 v,
(g Ml godl ey 2L oveuu |
5160 5815 vLell €12 ML vl !
gl B u@ $91 6=l oAl
HeAHL [ 45 2 wilazn 66 glus 6,
S ALlAHL ML UEL vl
S AUHAN 2AHE, G WAL s S,
63 # VU el 2151 =L avael.

44. sl s A et e el sy 2 6 ¢

(A) 15 st Bigul gollA (B) [Rrum gl oA,
(C) ol Wadll (ol (D) Micttl 2 Ml HRet AL,
45, sl g el e s a8 ¢
(A) iz @vil 2 d. (B) sl gl o Al el
(C) sl 2Acuon. (D) sla gl ov 2.
46, “clloy’ ALl 206 22 7
(A) Aux (B) iUz
(C)  =dal (D) [a2m —_—
47, “GIES" UoEHL HUL U0EA 520 U GPIAL S ? =
(A) s B) &
(C) =18 D) [
48.  Guilu-Al GumiA a3 Sl Uetl, UsLE SEUAL SRAML 24 AR S LAESIR SSAL € 7
(A) 395 (B) Gelau
(C)  <ldzs (D) Gw
49, All-umizl RraRlell sse ot s34 6 7
(A) UHAUCIEDL (B)  HCirtdcdLU
(C)  vHrAUenIL (D) ~RAHRHEOU
50,  Alzi-wmiall 53 ue Auls ue & 7
(A) [Ba (B) oudld
(C) arwilaa (D) Geut

https://www.pygonline.com


https://www.pyqonline.com/

B (36) PL-2

H

SI “Hle WAL M AT A, 22 AR AL HAMLR.” el [AmeL ve 5485 ¢
(A) Mg (B) Wl
(C) =2 (D) AR

52, ISR A A AU QE B s CidsLOMLEReL
(A)  HWGALYA 2 246 WA E.
(B) ISR YA 2 245 Wl el
(C)  HISI A DA AL LAl AL,
(D) LB A i 2iledE L-24L

53, sl WA 2A2A SIS A" A BA USIRA B 7

(A) g (B) 2yt
(C) Rga (D) sHuL
54, “viell sl glsiadl” 3EuaiAlL Al 21 o i
(A) viell 515l HIRAL (B) kol [zl szl
(C) st (ARl s2a. (D) st [[uRl szl
55, Al 526Ul U0E dcuH A0E 5 7
(A) & (B) ¢
(C) S (D) 30l e
“ , . - -, =
56, ALl 5 v lanl [z 2L oRLRE 6 ¢
(A) -t2alszeiugld (B) A wgld
(C) vl wgld (D) =zal= vgld
57, [Azuelelml W esel i e RIE WAL A o7l 2] 5L 58 g [l 4R 2L 5 ¢
(A) tzdlsel (B)  sud-ul
(C) [esir (D) dll-=AlG
58.  {laiAraiall s Slieu Al lq £ 7
(A)  E-3ael (B)  suA-EmiA
(C)  dld-5U4 (D)  AdLl-dlu
59, RUOWHL MG AR, dHIRURIA G214 s3iacel Feielim sa siaedl [
6 ¢
(A)  HMdRIA Slied (B) Hsallu Slaiey
(C) Qv slued (D) AACL5led
60.  -Al2i-uniall 56 Riate wglimi dorell 2 Aot i Usiz-AL ALNSIA [lzts Wl WA S 7
(A) AR vgl (B)  2ilos[ud w2
(C)  [=R1(Bd e wgld (D) WL vgld

https://www.pygonline.com


https://www.pyqonline.com/

PL-

61,

62.

63.

64.

65.

66.

67.

68.

69,

(37)
Wug - 111
ST - 11
M @US H %ol 30 T & |
o¥ft wea srfemE & |

‘TR S o Feet | 9 8
(A) Hehaleh I | (B) T=1ef 91 |
(C) fagmar=s a9 | (D) TN AT |
‘e i HEAT gl 1 7Y B :
(A) e R e | (B) =qus fe@m |
(C) HIRE-BI HHT | (D) =t ST |

‘Tl R & HaY § IT FUE B

(A) Tl b 1 Fagd T BT 2 |

(B) s s a1t w1 SR 3 el HIGE igd & |

(C) hal weh § fawfee w1 s aerrdes ofan < e seerel 4 2 Bar 8 |
(D) i 1 Misgeh 31U 2 |1eA |

frerfefiaa # ared farm % fore wgea faga 2

(A) ! (B) ,

© ; (D) | mm
‘St ATt firevft’ Troreer gaTeR 1w i R OFe 2
(A) TcfReh H3@ BHT | (B) w@neff g

(C) Taa1@rg fo=m & ™ FE | (D) 3= & 1
ferresm e ugfa % aR H wdi oA B -

(A) 39 ugfa 1 W Hrete arersr 3 foman |

(B) SH1 AR AR & foeeht w8t 1 waim g4 | 331 |
(C) IZ ugfa mufies faen & v W g $i 78 |

(D) 3w efl e wEl |

H=HTcHh 3TMTH 1 311 4 2

(A) afy Fmto 3amm | (B) &R IT3A 3T |
(C) dred g 3979 | (D) 9T T34 397 |
12 ik fafyy fora smemht 2eran % ferehra o spea B1el 2 7

(A) T3 gl | (B) €Ted ST |
(C) dTeH 2 | (D) @@ &g |
L e o gay 3 el U B

(A) T2 SrA fhaT a2 |

(B) 350 & S ATTE0T WO & S8 |

(C) ¥g Teroarereg =i TG © T80 2 < fore foman ST 2 |
(D) 48 DIt Hanadi 4 9 § & forw fees 3wvfi 2 |

https://www.pygonline.com


https://www.pyqonline.com/

B (38) PL-

70, WIGE -TEAF I I TH &
(A) T <hT shea1 Siferd = ferenfra &5 |
(B) feenferat gro forva fafawan s Sieft fafimar & asfa suam |
(C) Terenfiai & s <Y ot =t ifira =1 )
(D) faenfefai § wneem % ufa st 30= <6 |
71, o1 fregor % form TEEA g0 Y[ IR0, G HUEAT 918 a1 ardend feRTel & wem |
ferarn s ® ¢
(A) WHIBH | (B) fsa |
(C) = figedhi | (D) feirame |
72. &<t Toraw o femedf i aifefres sifinfa &t ser arel Graet § faafafaa @ @ $9 6t
afmfea @ g 7
(A) HiIeER | (B) STHT |
(C) e AT | (D) HIST-SAEMW |
73.  “geAis hl wfskan i smra @@ % ard Afdda W TR # Sead i 8, 7 b
3Iehl had sifgeh ITATed Hi |” Yediehd o dae 4 Iad HeH fhah1 8 7

(A) TAWM | (B) uw.ti. giaan |
(C) WEa | (D) T3
74. ?uﬂw%ﬁwﬁaﬁmﬁﬁﬁﬁ,aﬁq&nﬁwmwﬁwmmWw
87
(A) "fgwlemd| (B) Icife wiar i |
(C) afaiea whgm 1 | (D) 399 ° I3 A8 e
75.  ITERICH e 3 e VA 8 o
(A) ITemreR frem &g ffvea abran | (B)  Trgmmerss e |
(C) fafsre suwamrens fzm | (D) ¥ § H1E 4

frefafiga memer < snam o v TEn 76 @ 85 e % IWm e

W2 1 39 AT 1 IER FEAN: B Ted @ | S-H A F A A 2 -
IHhl Ugeh Gerdl ATl 2 | 39 FehR AU TH -9, Fed-el H w-ve $i 9fg oy s g@ 6t
B AT §eTal Fotal 2 | T B3-St <l Hezral = s &1 721 0 1 8 | gl 1 w3 i 3/
ogA $D o T B, w9 o anen oft wsa o fore wrr: = 1@ T R wngsa % fore mgsa =6 v =
AT Z | 39 9T & Fed & @em ot 7 fo@s 30 | 3 7S & W W w0 AL F 8§ | qeal
3 Sherel §o1 ST 2 Toh g@-gm < fafral agd g o wifeet 21 mé & | SueR iR 9 wgd-d
AT % il @ TN 2 | 37€ 3 914 hl IR dl Fal @l fob hls TagEdl AT FAN o, %,
-, FR-T8 SH T A, W 38 90 H @bl Tl 2 [ IS Tohelt gasi, g3 T i
HI T5H1 % oA U 1 A%l ° dfgd 9 S | Gl STdT T IO U F 2 | Aerar i adqH
feuta o v =afed 1 go =afed 4 9|1 wa |1 381 @1 991 9ge @1 a1 U1, 9 U SAid = gall Srfd
|, T o B TR <N H, w9 F wuref Fron wfafia g o d | geer 3 wea S % ot ard-wed
H1, T 3 Faa 2 & drg H -39 ) iR Fatd 99 @ 8 ; Uk v I fauw 98 2 |3
wretn aftrgfa @ e smd 3 7 2 afe amght 39 @ § T e 3 W@ | W EE
5 g1 1 foereron FEm 81 T 8 | S SIE B e b i W@ W fon e % 3= 3k
ufaa amest 1 det arEEs Hi wfawn sravas 2 |

https://www.pygonline.com


https://www.pyqonline.com/

PL-

76.

77,

78.

79.

80.

81.

82.

83.

84,

85.

(39)
frafefiaa wegi § 9 wreg-whiw H 9gel S T1 I @ 7
(A) 31T (B) &
(C) UG (D) A
‘gfe’ vieg <1 T afu-fase gm -
(AY 99+ 4 (B) T+ 34
(C) o+ (D) W+
Iy Iree § I B —

ERE

(A) 3 (B) é‘%’a
(C)y 34 (D) I
‘SateE g B —
(A) dcad (B) <
(C) weua (D) feresft
“Ofafia’ e A FH AT I 8 7
(A) faa (B) =4
(C) ¥ (D) 34
‘Tgd’ oee o forar-fesiaw 2
(A) TIHEES (B) {ifqar==s
(C) fmETES (D) HIcETES
‘H" ez TR T BT Tga Ve T &
(A) SEES (B) TR
(C) =& (D) e
‘TR W HAT U1 || A HA B —
(A) F9HH HA (B) YA
(C)  wfsa we (D) ZdeqHS Ydshie]
frferfiga 1 3 forw wag o ot wreg gfeem € 2
(A) T, I, |9 | (B) W&, IR, &4 |
(C) 94, 9, 913 | (D) W, 3, AW |

“Iqeh1 &IMhTh ©9 dgd-H AT < Widt @b 741 |7 T H TYad ‘Hgd e 2
(A Tafraa uformremas fasmo | (B) Gehdarad fargmur |
(C) Affvaa ufmmreares faewor | (D) GEATaTse ferereor |

https://www.pygonline.com


https://www.pyqonline.com/

86.

87.

88.

89.

90.

(40)

frferfiaa Tem =t Tget w9H T 86 | 90 T o YTH! b IR S ;
a1l @ grefl 5 v, fire T war wani v |

g W HIS g2 18, Telai gl aear 9 |

74 %g fiY, 71 que iR, #e e rafl mogs fi |
g oed 3 e fin, v w7 fawat faque fit |
HaTS herl @ TaT, hacl 107 1 A aHT o |

97 €IS SIS AT YT W01, 98 0 T&d <h1 CITET o |
T o T EH-H, HAT T TFare o |

o HETH] I WY -H|TY, WHI H&Ia HTe AT |
- gl -9 L, e 5 741 fe o |
O 19 < €S &, TS 7T gal <Rl U o |

fiream 7 =t </ o7 9X, TOIT 9aTY 1 i AT |
98 21 @1 AT T, AT AT W OEIE o9 |

TR Yary feroeh o % @l 4 ¢
(A) TEEHE o Gt & | (B) THIH % MTehied o |
(C) WTel AHTES 7 fig & | (D) 3wH | difga < |

IS T gaT T TTeT1 U84 i 3TIH 2

(A) §gd o qHE IH |

(B) & a1 i 9918 4 Higl dg R w @i o |

(C) Bl I %6 AMT |

(D) e HIS1 g4l & Y&cl 91 % |HM oSl § 41 (@1 41 | Em
frrferfiaa 3 & form dfe 2 S 2 7 "
(A) Ha1 HE{ € @1, <hae 101 HT 3 T910 &7 |

(B) T 9 wuft =deh o 9T, TOIT 9T <h1 shIST T |

(C) TIOTT ST <h =1 H, TS 74T §l1 1 WIedT T |

(D) & %ve fir, 79 yog FR, e Fe e = 3ps i |

Il Tee it ur

(A) 3™ dieTaTa $I &< | (B) €911 vIeg WU f&= |
(C) Teresft wse wame &= | (D) dcHd e weM T |
T 4 e | @ —

(A) Tyt i v g vd gg8m w3 |
(B) TH fug gRI WERIvn YTy &1 90 H |

(C) = fit farforean |
(D) uH fig =1 3774 |

https://www.pygonline.com

PL-


https://www.pyqonline.com/

PL-2 (41)

SECTION - 111
LANGUAGE - 11
ENGLISH
There are 30 questions in all in this Section.
All questions are compulsory.,

61. Plosives consonants are :

(A) [p.b,t.d| (B) [tf. d3
(C) 'm,nn| (DY |fv, 0,2
62.  Which is palatal consonant ?
(A) |h (B) (0]
< 1l (D) |1
63. The phonetic symbol for underlined letter in the word “tile’ 1s :
(A) et (B) |orn|
(C) | A1 (D) |ai]|
64. Phonetic transcription for the word “hang’ 1s : ,
. = . (Of 0]
(A) |heing (B) |hany| & :
(C) | heng| (D) |haig|
65. Phonetic transcription for the word “jester’ 1s :
(A) | dgesto(r) (B) | jesta(r) |
(C) | dzeista(r) | (D) | jesta(r) |
66. Which one of these is not related to passive vocabulary ?
(A) words are recognized.
(B} words are understood.
(C) words are often used in speaking and writing.
(D) words are never used in speaking and writing.
67. Motivation is a process of
(A) arousing interest (B) maintaining interest
(C) controlling interest (D) all of these
68. Communicative approach to English teaching means :
(A) Informal approach (B) Group competence
(C) Communicative competence (D) Communicative appearance
69. How many components are essential in the process of communication ?
(A) 3 (B) 2
) 4 D) 5
70. The communicative approach in teaching of English has been practiced and developed in :
(A) India and England (B) Indonesia and Japan
(C) England and America (D) China and Japan

71.  Multilingualism in classroom can be used to : (Choose the irrelevant option)
(A) teach all subjects
(B) teach about diverse cultural groups
(C) teach only languages
(D) teach the lesson of equality between cultures
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Which one of these is not a part of remedial teaching ?

(A) Teaching afresh what has not been taught earlier.

(B) Teaching afresh what has been taught earlier.

(C) Suspending the part of learning the new items.

(D) Preference to reinforced practice of forgotten parts introduced earlier.

Which one of these is not a challenge of teaching English ?
(A) Determining the goal of language teaching.

(B) Several methods in language teaching.

(C) Large class size.

(D) None

Written Tests and Examinations are not meant to test : ErQ
(A) Vocabulary (B) Translation &=
(C) Pronunciation (D)  Composition

The concept of evaluation was introduced by :

(A) Dr. West (B) B.S. Bloom

(C) Thompson (D) Wyatt

Read the following passage and answer the Question Nos. 76-80 :

“Wind energy” is derived through a process where wind is used to generate mechanical
power or electricity. Wind turbines convert the kinetic energy in the wind into mechanical
power, which can be used for specific tasks (such as grinding grain or pumping water). A
generator converts this mechanical power into electricity.

: " may be an appropriate title for the given extract.

(A) Kinetic energy (B) Electricity

(C) Generator (D) Wind energy

Fill in the blanks with appropriate linking devices which are given below : (for Q. Nos. 77-78)
Wind 1s used to generate mechanical power electricity. (According to the
passage)

(A) either—or (B) but-also

(C) neither — nor (D} so-—as

_Turbines __ generators are used to convert energy. (According to the passage)
(A) neither — nor (B) both—and

(C) but - also (D) as-as

A generator with turbines mechanical power 1nto electricity.
Choose appropriate verb to fill the blank :

(A) convert (B) have converted

(C) converts (D) are converting

Mechanical energy and electric energy  the different forms of energy.
Choose the correct option to fill the blank :

(A) are (B) is

(C) have been (D) was
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Read the following stanza and answer the questions : (Q. Nos. 81-82)
We have no time to stand and stare ?

No time to stand beneath the boughs.

And starc as long as sheep or cows.

Choose the correct rhyme scheme in the above stanza :

(A) abcd (B) abba

(C) aabb (D) baba

Which literary device 1s used in the second and third lines of the stanza ?
(A) Allteration (B) Simile

(C) Metaphor (D) Personification

[n Saxon strength that abbey frowned. ERE
Which figure of speech is used in the above line ? =
(A) Metaphor (B) Simile

(C) Personification (D) Epigram

[ must confess that it my quest, I felt depressed and restless.
Which figure of speech 1s used in the above line ?

(A) Personification (B) Assonance
(C) Metaphor (D) Epithet

Thy soul was like a star, and dwelt apart.
Choose the correct option of the figure of speech which is used in the above line :

(A) Personification (B) Metaphor

(C) Pun (D) Simile

Choose the correct Modal Auxiliaries to fill the blanks for Q. Nos. 86 & 87 :
| swim across the river when [ was young. (ability)

(A) can (B) may

(C) could (D) might

[ thought he be at home. (possibility)

(A) might (B) may

(C) can (D) will

Prohibition is “gall and wormwood” to distiller.

Here “gall and wormwood’™ means ;

(A) helptul (B) hateful
(C) hopetul (D)  wonderful

He “stood his ground’ against adversary.
Here *stood his ground™ means :

(A) stand still (B) did not fall

(C) maintained his position (D) maintained his game
Petrarchan Sonnet is also known as :

(A) English Sonnent (B) [talian Sonnet

(C) French Sonnet (D) Shakespearean Sonnet

https://www.pygonline.com


https://www.pyqonline.com/

61.

63.

64,

65.

66.

67.

@4)

@GUS - 111

HET - 11

HEpH

313 forerq s | |
TS JAT: THIEAT: |

“I" eI IR IR 31T —
(A) i (B) ==
(C) drg (D) HUa:
“Syat; Tt it |7 SO ST AT $d —
(A) Svaor o 169 | (B) $al &4 TE |
(C) $va: | & | (D) SYET TaH W |
“TIT g T |7 oA 9Tl Heaad —
(A) TR 95 99 | (B) w1 9: 394 |
(C) W = g7 | (D) 3% 9= 77 |
“on = Terd o R | g aTad FeneEd — EI"%
(A) T U d 9 | (B) Tl T U= o a1 |
(C) wm A Ugafd ad 9 | (D) AT 7 reAfd d Ty |
“ISRATEAHT G ... Ferahy | 3 ferfaayer: aufaac femees w@d —
(A) Imgda (B) e
(C) =gl (D) =g

TEFAATIAETEd STae waed = fagrarganon sferret yarar sefd -

(A) TATHIHES

(B) dHICHBIEIAH

(C) difassra (D) ®rfgcas=ae

“AT AT AT, |1 S |y | geE aiere fafide -
(A) wcaafafe: (B) ferwemuenmfafi:

(C) =aTE=ATtafe; (D) SATRTfefe:

https://www.pygonline.com

PL-2


https://www.pyqonline.com/

PL-

68.

09,

70.

71.

72.

73.

74.

75.

(45)
g g aadt - faeh durmie —
(A) == (B) 3eevaq
(C) qeT (D) HeATETH
dfeshiuaT-Tgetsii geaamaaTn w: Y fafed: -
(A) UTGATEHRMT =0 (B)  THITHTABIVT AT
(C) WewHugeHTeT (D) ey fafefaar et s
Hferepymvl Tepatie wmumE -
(A) FTHEEEH (B) SCHHTEH
(C) FHAHHETIH (D) Torarea=ry amrmyeg

Te=eeTE, HURT: Arfes-ofgaH aragl: 9 991 waf< —

(A) CTRRICHI: (B) Tiamaremsnr:
(C) AfdeTeateHe: (D) =gfashearena:
qigAgErh afear arfi W —

(A) Toegerrommy amfefes -ammfseaogamy
(B) Tregepron smiifies -wmfaeneagany

(C) SETIN IR - AHRARETHH E{%
(D) BT AT - AT RS HTH ]
TEHaUTIeT0r TS Wi for —

(A) e (B) w31

(C) wwuTYU, (D) &y

THHHTR 3o faehean: S | wheeff oy foeeny wrger fomifa | ohamn: s +: 2

(A) TreraTrsySR: (B) wgfasmeTyan:
(C) ATUHRIHR: (D)  SAAETAUHRIHIL:
TR e JEevmied —

(A) FoquiaTEHsRmETEy fTEm

(B) &I Afah ey

(C) IeTehe AR ey
(D) FrerrermTiemiuu= e =arafrsprr feom

https://www.pygonline.com


https://www.pyqonline.com/

B (46) PL-
frferfigay smfed mamm smase g (76-80) THEET: -

forvamme: Faesys: Hft sift | 7= TEEm g=mey: fawafa | vfErer: T HafE |
H: T HURUfT aer: TWehted TadAtd | 9: TR FHea @WEA WiwHEE I G 9
JeTTeafa | T T8 e vaaavT O S | | g Seefe |
76. “TaAAU" I WU 6 7

(A) wgifa: (B) et

(C) FHUR: (D) TEgE:

77, “Hedl’ I GIq; TeAwTd IW: —

(A) &+ (B) &+
(©) FHa+d (D) F + F

78, “AETAM” 3o 1 faufda: ¢

(A) Tt (B) wHl
(C) wwHi (D) feeften
79. ‘Iaaeatd’ goad Iy wfe -
(A) = (B) 3d,
E
(C) 3 (D) ¥ E‘%
80. “fervariy: purerhseh: 1M 3ifEq |7 e T areTaTenfE -
(A) FITHTE: (B) af
(C) afe (D) fawamy:
FrferRad vetrend 3marished =ifRdr: (81 —85) F9A1: HHIHAT: —
w%: gavi 4 fa 3 g8,
feb 1 78 pefer g |
TR Tt wif=y gEesm:
forery oo 7 o f& 7w 1)
81. “Havl:" 30U WATH: &: ?
(A) doIRN: (B) 3r=gHivmE:
(C) &= (D) haAHHTH;

https://www.pygonline.com


https://www.pyqonline.com/

83.

84.

85.

86.

87.

88.

89.

90.

L

(47)

38" §09F S A -

(A) FIIE: (B) Y-YId:

(

C) FTI-T: (D) ToFH-vem:

I -Tetioh Bred: M fRg 2

(A) I9IH: (B) =l

(C) I (D) S9EY:

“forerg wmg A d f e g faemmey st -

(A) g (B) T

(C) oy (D) d

“we:" gead feargnfea - ‘

(A)  wifersm (B) FguHfTsH
(C) dfeersm, (D) Fefergn

“73" 3l T HEhd forad -

(A) FEEwfd: (B) =wfd:

(C) FaTEwfd: (D) Froaf;
“6:10" Hhe T foraa -

(A) wTHygaETY (B) awforeRTgETETy
(C) HURHgSTETH (D) eanferehyadareTy
HTRYEEAY Y - NeTEr Jvll: wafd —

(A) TEY (B) B39

(C) A9H (D) H&Y

“H Geret B TE T8l I |7 5 a1 EhAIaTe $ed —

(
(

A) 8 shifgeen aua 7 Fgnfh | (B) 218 shifgcen wma: 7 qganfiy |
C) 2 shifecan o 98 7 UM | (D) A8 shied Hu A Hivsafiy |

“ush T TN feefta 3 am e % for v e Bren 1

(
(
(
(

SI AT HEHAATE Hod —
A) el T feia: a9 weq e Stved gEiE |
B) Weher Tt fecfia: asmhdy uhnd qafd |
C) Ush: wnE: U feetiv: a5 soq vy 3rvd A |
D) Ukl U feefta: a5 Hq UHH 1Y YA |

https://www.pygonline.com


https://www.pyqonline.com/

PL-2

48)
-l
- ghJ

»
3yl

U el & iyl L ity GO a_-,-f'-I;J!

A1 (D) S
(D) UL

gz @ & +F

E el Edie o S s
e 7 e bl ol

13 - 13 _v_
(€) J#  (B) JE (A
e b E et g1 ()
(C) L (B) 2L (A)

Yo LT s e & LUt wa*-lfLIJ;:i

(€) g+l (B) Fit w

e u'.*.m,:ds? Wy Wb sl
STutme ol AL ULl (A)

e WL E e Tl (B)

- Ci:r‘@; E/'J'.-Eui 2 plezhlrn Bt mf Uil (C)

g il 2y i 2 s

J{'Ul: I

G 2ar (D)

?/_.‘_. fp';bgi ﬂ Lid L =F b Ur’.._;ru: il

(B) 2B (A)
(D) 5 B (O)

g_,a: v tj.’fcc \_,F'IJ.: U'/CJ[:.; JJ..';

(B) a0 sl (A)
(D) LEd Eedigb & (0

https://www.pygonline.com

.61

.62

63

.64

.65

.66


https://www.pyqonline.com/

PL-2 (49)
e3P i e §ese
S Fmsh ot B
SEJe Kbl det @B
PSR SIS N T AV S-SR R T SN - B (o)

S oir (D)

S b ts) Lo Ut i e

~l3 (B) Jr (A
Ju (D) <7 (C)

L W e (i A e 77
LB Kal el Sl (A

s kbl T2 e oy g g e S (B)
Lo 3PS el ST (0

-7 .;-fn:d;"l’l} Ul ovar (D)

'?c:'_ JL: Q{:.C'ajlkfcjkg:é Y aj,fm,,,wu: (Plan) $4 ..!""JJ:(

Gae Sy (B) Sz 200 (A)
Si 807 (D) G2l (O)

< bu gl e 6ol =F

§e (B) FUE (@A)
Ji# 6 (D) = dF (©
4-.17/’;5/775'._)5-;;,:«‘._9_’

te (B) sl (A)
S 6 (D) Je ()

https://www.pygonline.com

67

.69

0

1

72


https://www.pyqonline.com/

PL-2 (50) B
- wawu_ﬂ_aﬁmufw_;_, bLef Uyt 3

.:.,w@«'r,%‘ (B) o

S o (D) A ©

c L AP 3 S A Suie £ Lid v 2P et 7
34005 (B) 2APEF(A)
348 (D) 2428 ©

PSSP TS SNt A -
S (B) 53 F

(S (D) Gt arlfn  (C)

12 Z (806 76) il 2 P ,mej; ;r/u'l_:;l EFE
I u} gy S AW LA T, 2l &8 Sy
/( Q .«A..J:.L _&Jd_./._.fllf._..lc_.lﬂfb}._.f)c_.y lruﬁ,r._-»’fmr
ﬁu"ugf‘fbd) u'cff:d’{-{'_u' 'J-‘c,fl..idg)l."f( to s &7 U ¥ w..r_*:,L:,b):'.'
b Tl § Lt Lt e s S 2 iy e 8o
.'Ellz:' 1§ L.ff{_' O b L ..@;f,:g = f_.ﬂ:'-‘n' _l:-'.:;";ﬁ.:b,",:“’:u P ..f':r'_@ oS

¢ 121 L_CJ’,:”L:::{: Az i J';L'r_téj I?/Lf/l}ﬁ

¢S }"L:"/? JL:J’)/;}') 4 § by 76

B 100 (B) B (A)
Viiss (D) Vottisd /S Fess (C)

o K& _“»._ _.’TU sl 77

" .. . .z-'l .
- Ltgc'_d (f.! E;.uz. gLl (B) - L-]:) e Plighl (A)
Sz (D) >l f‘:'-v'u‘?wa b il (€)

https://www.pygonline.com


https://www.pyqonline.com/

PL-2 (51)

o AT R L T e

(D) =t £ (© ~F1 (B) 2k ()
FE () L (© L4 (B) 0(A)

=L (D) J () LI (B) G2 (A)

18

79

80

e L85 8D wtr L s Loy B b s

Wiy Sw & e o=
7 d da & ey ST ff ¥
r G xS s s gl B
ii_x.f_{ufus/j é’_‘_:_stf_,/"Jr;;
Bl o LE s B Lo sty Vo

Lfﬂkﬁj ¢/ J}";:'/J'b

Sob =ty

crfdel KEU@ g

nii B o S (A)
db gL (D) dE P (0

C e tvr S § i 5 o 2 N 20 B G
& ® Je ()
S D) ()

o et sE
S 281 (B) S&5u )
J=¥ (D) JLe, ©

https://www.pygonline.com

81

82


https://www.pyqonline.com/

PL-2

" (D:I F! _-QJ
‘6. (D) Qi

Jﬁrcircé {_,:!f
~
L fd fb/

Ll i as

Wi U ot FT

(€)

(€)

(B)

(B)
(D)

(B)
(D)

B
‘5;.:-_1,:'{,/@'1.&‘? . .84
é*.?._:’:i,;ﬁu;c:
Eye a0
-+ (B) I (A)
o ¥ UR"E) 85
A (B) A (A
o =l 86
Fly (A
4 skl (©
o kTau” 87
ST (A
Se©)
.;_5&'15,?/55‘1.;_ T E/qu.;_'_ucuﬁi 7”88
Jrv T (A)
Ao (C)
GPahh7 89
Bebd (A)
dedar (Q)
%‘_Ur::‘; Arﬁﬂﬁwuti 90

(B)
(D)

AEugr st & L (A
A2 E (©

https://www.pygonline.com


https://www.pyqonline.com/

PL-

(33)

g - 111
1T - 11
Teft
Fcl 30 Hare Tt
N garer o sl anfee |

e : 2fs feat wiaan @ v ganat (61 @i 65) 1 e gt |

61.

62.

63.

64.

65.

66.

TfefE T wr § faer an, foet &g mife fe offd
efft ror i et am erdt o wefy g g offd am
wuft i i frmgh &, ar=h g anfaai ugh 4,

el Wiy T o1 WgH § foe qfesh szt ofid a1
A A el off A Argi, Fw e 9 FA afgi
B (e i gedlH gierd H, aeuge g ofidt 3 !
bl I I ST 3T, BN W1 Tad gel 3,

T W13 A Taiegrsit 311, Fo gou fam e ofidt o1 !

i Sl IMEE 378 —

(A) o™ (B) fearfit

(C) @ (D) a%I

<ig’ T S W 378 — Li0
(A) =& (B) firm= =
(C) ARt (D) Frert

TR @l Tt A

(A) =Tad (B) T&d

(C) W& (D) STeTeAd

T a S 35E I3 ol —

(A) & (B) I

(C) w=d (D) Wfau

sl Terereft oz —

(A) B (B) =&

(C) EU R (D) ZIie

1853 T fueft wfafrn € fai’ < <4 frare o -

(A) U%T Hgtag 1 (B) ERTT Tegmftar o
(C) eATeree SfgIua = (D) WHFE FRHE ST

https://www.pygonline.com


https://www.pyqonline.com/

67.

68.

69,

70.

71.

72,

73.

74,

75.

(34)

faeft wmstiar i s wifsat == ar -

(A) ISl Fre (B) & 3¥ege A
(C) Had "t (D) @t

Siar 7l e s 3 frmfa a fadht 96 g @i awdt @ 3t garfere ferght &
MR —

(A) ®zA (B) faed

(C) BeH (D) ==l

‘Sifé IS 15 A1 A, T TEg B Hal IS —

(A) TR (B) =fafl

(C) TR (D) =f=

‘et ST 37N B3] SEAATE =T 3T

(A) @RH (B) @WWgd

(C) =TTeHtsr | (D) o H

TR S EIT) AT S ] A1 -

(A) "] (B) relt

(C) 4Tl (D) TEdl

IR @ e o g @i e et @

(A) Hareh afe (B) U1 FFH1

(C) =9fie (D) 31

anf 5 famor G guw it s 3 wfa of dfey anfef -
(A) femm 8 guv anfs weaf S s

(B) SIS WrEA{ S gedure @i [E
(©) Toam 3wy 3 s w =
(D) Feafy 3 fgmorar

afeaf ai Tfaemdta o -

(A) Ty 9am (B) TITEA AT
(C) 315 #feg (D) Tifeg e

R o faeh ar S Arg g U @ Uel o1 A5 R @ adtehl ARV @Y

(A) FrF @ wrfifes o 23
(B) oW @ el $3 %

(C) arf ft mme ot Rt wror 5t e © wnfeeres Terdfegf~ s

(D) IR 3 argefT @ firepmd

https://www.pygonline.com

PL-


https://www.pyqonline.com/

PL-2 (55)

afeat 2fertr wet fsaer gamafy o1 v fea (qamer 76 @1 80) -

I fae wenrtelt feveh o wrft faes <t wedl a2 U & fowh UM 91 Wy 2 3T @ e gy
], Fe 1 W1 P a8 ol frarer oy 2 9 “HE A U § 9§ W e d gfat fefa o quer
are fradt 30 gaad avdl € fae fau gig fsom o w2 @ vzd 12 & | w3 s & g wifema @
@iy mifes €131 312 4 Sifd @ S a1 AfE @ ufEsh oy fafaan == O gg Fat 39 S g At o
T 13 511 9T A 4 31 4 fgu @ <hist 3wy #1 v 33 uiEs e Wi # fa en @ fgu i U fgm A
st aia sl oft sirer St iféS we i gewa 3ne @ 531 ufde 7, wq, uq fa nuisfy afes w5 |
fafa St aféS g @i qgaa ame @ ufss g wifor frmi-fral @ afeny wefs war @ & frem Sh
dferelis @ 7 aftelis =t awafa ar | f5f @ e a1 gea ang fafy an Sfau avfiash g 4 fire 88
weig feran anfef dféent wgan @ <if afe Uy sz «fd afe ay ww snfef 9n 4 wg e Ha g
@ Tt et S et wifna @ f gat s w3 € i fgfa | o qedfter 1§ i wfefamsty
a wrerm wiveft frftar 3 o g g srdte w fo amed ym S A St fs s T ganfer am fa
= &Y forit <121 | 381 S 1 el A1 1 F 1 werg W A e wh | Afewa 3 om S A, faf
St ot s |

76. HIUY Zfpt S el amg -

(A) Feea B) g

(C) ¥ (D) 347
77. ‘9% A GUS U S TR 378 —

(A) T A & (B) =g d ufearée

(C) T4 fgam =i %4 firer o (D) hfe|n 3| 3 %
78. Sife @ U9 g dfs @ ufd fafran ==t |

(A) Hm (B) =i

(C) (D) OO

O

79. ‘GETS St g9 T aRl S 318 —

(A) g (B) G Haer!

(C) Fa (D) Fd
80. (i) u ars Sfet St frert sma s A |

(i) o a9 | f=ier oo e aiemmE |

(A) (i) 5l (ii) Terd (B) (i) T4 (ii) 9@

(C) (i)=&l (i) w&l (D) (i) TTerd (i) T

https://www.pygonline.com


https://www.pyqonline.com/

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

PL-2

W T
T T

frerm

e 1 et 9 wrg
wnfifefa i wiféres avehiar s Uwon @re

il

el

ERMERER CIREIPIRCIuY

(56)
feeft amgaer 1§ 2 srat @i o I o -
(A) @ (B)
(C) = (D)
‘gitar’ e foree 318 —

(A) = 3H (B)
(C) TR (D)
“yife 1 wiest an groEsn |7 faere o —

(A) B (B)
(©) & Fa (D)
“gH9Tg 113 < Fa] Wi | firarer s -
(A) S ¥ (B)
(C) o i (D)
“g ol 7 Sl ST |” TETeR! T HiET —
(A) T (B)
(C) gL (D)
(A) FTAFER (B)
(C) FIhI& (D)
% Fac) vIgt Sag g AT A e |7 3R
(A) o (B)
(C) TS (D)
TeaThA it ufshar MRS @rg s 38 -
(A) @I i3 Sfi S« (B)
(C) TS it ST ATg (D)
GeTeh W1 SR ST i 3 —

(A) aHiE (B)
(C) gHH (D)
hIfeel A% 381 218 bl —

(A) R @ fam gan (B)
(C) wrf @ mdar Fae (D)

gl 5ft formmen e+

https://www.pygonline.com


https://www.pyqonline.com/

PL-2

61.

62.

63.

64.

66.

67.

68.

69.

(57)

3 111

gH-11

s

R Y3 fS9 d8 30 YR I3 |
"3 YHE Jd& 7gdl I6 |

Tt fie-as
(A) RHJ B yaa" (B) vyt gz
)y I8 (D) &9
wizagaty  SAfagraey:
(A) IH3ET (B) foms
(C) wf3Badt (D) =98
fonrsagr e REEl =
(A) €3m (B) ¥
(C) fomfraasT (D) gilﬂ.
73 3 ufgdt nifmrsyaea 3 .
(A) wATE g (B) Fadtdize
(C) HSIILI TG (D) WEdtEg
waet 3T 29 ‘fanT Hae <1 293 faodh g9a= get I8t J 7
(A) ve Taas=zd gua< Set (B) EIHT Set
(C) afeqet fegzisd gua= et (D) e fagsza goa= &t
famrs & Hafa 9o GF § Wit 3 it Saude@es er et As 3
(A) nifoemud (B) fefamrfaa
(C) HIUIH (D) yAsd

e wftmmua 5783 H 39, g™, T I T s AT e ey A g fwGer I 3 s9 =9
weafa3 I a fiye 95 | 37 G faa3 fifinr froz S ea3 ag faar Jer a

(A) ffgnmr o fag3s (B) "8-ded3 = g3

(C) 89S fHT3 (D) #3sT U3

T, fimrrg, Saur, fie, fanasT, wragwfe oo Arss R AgSSgAUfed . UG d:
(A) HSE AW (B) foysams

(C) ugEINS (D) YU3dI9E dHS

" fHfeon 139 5 fouz 77 He'g @ Hoz—yas Ben e s adt J ¢
(A) Hfan 129 T 578 Hea &t wies feans a9t |

(B) vt Aedsr I miaes & s fous T as feamz 9957 |

(C) feforradt famam g’ <t =93 agar &t fitue |

(D) =92 S, »y 3 Iy fods fafonrfis afde a5 |
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70.  J& fofim aus fan fifinr rrsdt e :
“niftmiryg & fog Jaft 30 wHs & wdler 9 fa €9 idht &9 296 <t W 3 =dhr fedt s
T95 T | A= FE g9 I ity o T I fage &8 o I | fom 397 9 99 e us 1S9
felazr ofas ag o J, st fRus Az esféea I”
(A) 353HTes (B) H3q
(C) #3 (D) #H.6.9Es

71, FH offoeius Wi A9d fefonradin § 33n0 mee’ ug8e 98 37 Qo § ufas™ 3o meer,
J9, 9&, i, 90 wfe & »rug g8 gdier 4 | — feg Beaas fan 907 §39 28 Haz gadt

J?

(A) FEIEASIB (B) y3as3ninds

(C) nrIHs 3 faaHs =8 (D) wofefomifaa 3 sdfaa =
72, 9ISt famH s T

(A) JgITe (B) Td3399e

(C) FHIrsaardt Ide (D) IEITBII
73. YR& St IH:

(A) nidt, miee w3 938 TR oA T |
(B) R, nimime »3 Ao 33 it T 1
(C)  uidt, wimme w3 935 3 < T 1
(D) A, e wS Aes ISt T I |

74.  afezrurs, wigg §u, B O wirfe faadh Jifemr @ viaras |
(A) 95 Ins Ffifepar (B) Heasrdu <hfifanr
(C) wmua=dt fams dtfifemr (D) yE-RHIF < famirs < fifaar

75. A3 99 ygaT-fove adf Aee G5 © fegua § vz = faudl yaiae fedl v yoar
Fgefedd ?

(A) =Azfors L (B) yHe=dl
(C) fécafe@ (D) il faafhs fifemr

(76-80) IS fsu U3 Sz I AT B 83 76 380 I 2§39 28

WaY € fegrd &t ugre OF ¥ fazmet ugs &t ot 3 & it 7 maet 7 fabfa faE aet fasm
W& & A fddt 7, €8 a¢t fagme »mets, S99, aw-Ba @ 3 wat fEu afag uge =& 3 9 |
wifrdft fazmg I e A9 wifls 2uft 9 |y for 2 o99 ad9 996 AW § 7Y O ST Uad o
AGHY It I | »ifadt 9967 WaY € 379 § e Hae! J »f3 WY o »3H YdaT § 98276 dadt J, TH
HES HAY Wiad WHSE AHE A's 28 fHng’ 7 fea™l Age Je7 J | HaB o5 <9 a2 Jdft fag™
{&ye 28 ¥ 99yd Af3ag IfamT 92 HS |
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76, AW T feddfi mEw J
A) fagdft (B)
(C) T=G (D)

77, WA BA I IfEHTHIC T ;
(A) ¥g9Id (B)
(C) w&dfts (D)

78, Jdd’ HEL ETEI-HIHA HEL J
(A) wHIEHS! (B)
(C) = (D)

79. ‘HSTE’ HEY ¥ HHEIEHA He US ¢
(A) II3<9, dd=d (B)
(C) 3II3=q, HITH (D)

80. AT HUY 7 I8 5S¢
(A) HIH (B)
(C) WHHde (D)

I3, A&
Ig3=d, TEET

IHT
arat

(81-85) J& {34 Ffe-de S uF I A B 30T 81 385 Ja & P39 fel : -

Har ffe dag ovdes gar,
o= Yyt 347 3dinr A |
It fFare B wiardht 3t |
ST frz anig Eardhri &t |
81. Gazafe-guvorged:

(A) HI&T (B)
(C) fraust (D)

82, Bazafe-dooranT:
(A) H33IH (B)
(C) e gH (D)

farat
i3

Weg3 IH
fidarg 9n

https://www.pygonline.com
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83.

84,

86.

87.

88.

89.

90.

(60) PL-2
Saz afe-dewrafe-qud:
(A) w3 (B) Har&THT
(C) =49 (D) wEe
‘SO HES 9T ufgE J
(A) 2g¢ (B) faaust
(C) =3=2 (D) TN

‘Ift fSare mE wiardhor 1 39 189 e mae wiadhyt o dagi wigg J -
(A)  nie ot Sadbn (B) gt Fharf Uyt
(C) wigig<gg (D) Je

‘nfg Y7 fygdt, 997 3 THE TS 97 B widE 9

(A) " faR S TEUB eIz TR UI TN U |

(B) v fai ¥ I8 Y8 uie I8 Yd IH uie | R
(C) e fam ¥ T8 I8 &3 IH ug ©H 973 |

(D) FEfaRd e UB gg3 JEITH A g3 |

Uareft @ fued ned faa3 96 72
(A) 8.6 (B) €€
(C) & (D) %

Ha fugTHt s =ug fIs g™ HY @AY (807 | (€89 HI'=d" 93d @ YJ' &d )

(A) we (B) d3&
(C) imaede (D) UgaHS
St fanins J :

(A) ¥ (B) =

) @ (D) =

§% | G5 T8t Gt e wdt 1

Sugaz T TTYaI T :
(A) YH&ITI T (B) &J=@9d T
(C) feriegaad (D) wirfamrarge T
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61.

62.

63.

64.

66.

67.

68.

(61)
s 111
GlUNL - 11
eyl
L ASHLSE 30 WAL 6.
€36 WL el Al $306vd 8.

Al 585 el vela [Qaell s<€ls 0

(A) A (B) gl

(C) -wzdlszal (D) Hiors2
Rl sl [Asuaa w2 568l Heezu o 5 ¢
(A)  dlcisu (B) 3u-t

(C) 3Hd (D) Gt

cal1szL [eterml (o weld iz AlRArizl 58 ousd 0=l 5 1
(A) 2 gld WRl61s domss Gl .

(B) “arMt-2l (" il Guaio.

(C)  ctrfizstl Wl Rl 2oL,

. O, o0
(D) Rzl gz [REen Al 249 5. SR
Al MEA ALNS SA 6, D 5L USIRAL GUMLE ¢

(A) [Bacus el (B) wuloes et

(C) auloss e (D) leua-AL e

HLAUL ([RZGAL MAH S 521 65 7

(A)  BHLULRL (B)  lcusAl

(C)  udslzs Gulor- (D) Aleulod B U
ALl Wit SiglelAl Uil sH sALES ¢

(A)  HALBL, 52U, QA - (B) AL, did, i, 52
(C)  AABL, 5%, A, SN (D) A48, @A, i, 58
Al -1 AL SLAL UHIL AL S 7

(A) 2u2sléz (B) 2lasi

(C) 5¥42 (D) 2AMs1is

Mg ARAs AL HOCYA Sl A2l sl 6 9

(A) sl MELA SRellAL (B)  aret-uz llvigal AL
(C) ULl Al WL (D) WRlEAHL AUFNL AL
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69. ‘sl 21 sl se § vl AR U [l Aeel steuRizis-l Unerdil s1E B1s aeL

oLl
(A) MUl (B)  sieuHl
(C)  wapEla W (D) Gl
70, ¥Heuis- Bsieml et piqemail ARl 58 s ot AHEK W4 S 9
(A)  &ielas uglaw (B) ailéis 2i-ieil
(C) Hels ula-l (D) 2tufeact A WRad
71, [Rots usiz-A WAL HAUIEL X 53U M2 Sl MSIRAL WAL 3L 53U 20 8 ¢
(A)  ilszelusi (B) UELUSIR
(C) 251 GR UsIR (D) S5 MSIR

72, 2551 olellll 51Z 1L Rzl 58 21 s321AL WL 2l 2]l ¢
(A) vl Mssi saidl (B)  qul Yo s2diZl
(C) Ay Y 5112l (D) ga Y a2l

73, Al SE WAL HEUis 53 UMESHL ARl 5u1 B2siAlL A3ud 2R E 7
(A) YA (B) <245l
(C) weeesln (D) Yeadl

74, 0cyDiez otrtladl and ARl 56 ouotd- WAL A 0 20D 6 ¢
(A)  Sofil, BIEIRL 2 WHA, (B) [Anucd, ol 21 uali- Uik
(C)  WAHLUSR, [Avadad @i [l (D) [Avaerd, sqil 24 [srmBisie

75, ARl wieyg Gz s 518 s WiRs sieL oAl
(A) M e (B) &g

"
a

(C) 51 (D) 2w ——
&

Al21 AU IEULA PR WA 5115 76 AUl 7841 Gz @vil :

Yaetslel Hall WiAdlAL a-elsazul Heral oL evd . Rns sddi, “§ ARsHL B ARD
Yaetsl- 2 s3laL, SRS duAMl vizell Al 5 d vl efl Al 2l 20l ol vl
(5L *Unto The Last’ YzetsHiall dillogd ucuzieAl M=ol Holl dl. Al 244 sudod vl
YRASHIRL 2Ll 248 Alsld Bat 29t Wzl 61 HoLdL €L 8. UG, HSGRA 24 14
orall AR Al AR5 251l 0AAML HETAAL BLIL GEYedl 5. 20 AL UL s AlSLHE

URBUEIUS I3 .
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76.

77.

78.

79.

(63)

HirtellAL 2)AAUSARH Sl ADIEIA Hsc el & ¢

(A) uulaq (B) [l

(C) sl (D) MRar-

“Aieflog ActneAl e Holl edl.” Al Ucuus” wosdl Ul sdl wsl.

(A) AU+ BUAS (B) U + 2UAS

(C) ™+ A (D) ¥+ 22U

BAME Al 53 2lls 2l usi ? ExE
: s o]

(A) 29a- sz Hed (B) zesl-l #=ll

(C)  a-Rel (D) usld

ARL A YRLELAL 2ALAE UAHSHIS 79 Ul 80U Gdr @vil :
A&l 2AHL THG AN HOL A WL

g3l AL 221 W[z GuR ML HaL

oL @l AL 2L AL ERAL,

ugsl 24 WZlHL eill 2447 WAL A WAL
URRIAIA w214 2 dal sl

Bl SUAL UL, AL HIEL A7rR WAL A AL,
A1 @l =AML, 23l HElAL, el
ugsL Sl SISl 501z ML A HAL

AUUAL DAL €5 D USRI 57 2AAH
LA USTHL 5LE SHUGR WO A HOL
-l ynell e ezl @B 2ula,

B2 241 YL Ul BUER HOL - AL

5[ Rl 2 Rl Al AU 53 85 ¢

(A) HlSl Aovz (B) ol wel
(C) pa-lsRal (D) &Rl AR
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80.

81.

82,

83.

84.

86.

87.

88.

89.

90.

(64)
MW sl A0 2ls g3 2l st ?
(A) ddtdl yn (B) UL WAL
(C) *Hd PR (D) sl Uzl
el ollell, ‘A vy MU 7T A SULUSRAL UAAMA E ¢
(A) &5 ud-UH (B) Mzt udH
(C)  YBMARAS AAAH (D) AU UdAN
“OIIR D15 HIZ [BISIRL 503 6.7 Ml 52 ESIR 8 9
(A) 345 DAEsR (B) Golail sz
(C)  BumLweisiR (D) euld3s vasR
AU AN B 5AL BT ARG E ¢ mm
(A) HElsll (B) el B
(C) [zl (D) slzell
“CHAUL AU LAl Az 54 USRAL Bl 6 7
(A) s Balaze (B) zamnas [Balagiua
(C)  Sqeus Baulaive (D) uHaas Bl
‘A AU sigllall 77 Al sAL usiR Halovs 6 9
(A [ERraas (B) [seuqds
(C)  Eennaius (D) eRidAS

‘DL (el a dlEl.” aisdl sHBLAszaALAlRAeel 585 6 7
(A) =6l [l ad dal. (B)  2i-2ll [Fula e =
(C) @il (e af darl. (D) =4l [Fula 4 dar.

PL-2

[l And, 518 206 dR% = WAL DAL UR GIR HsAHL dMey sid-L Bl 2oy sral W2

AliArel s RugAL Budiorzux 5 ¢

(A)  edr™ el (B) el gl
(C) AR Rl (D) @iddReL Rl
‘el QA A B WERAE ¢

(A) =usuel (B) mzud

(C) [HEauel (D) s¥BL

A UOEL, UCEUHSLS A M, 5IH 53l eAUA 2 58 6 7
(A) et il wAsa (B) Gl 2
(C)  —AHALIL 2 (D) [l 21
‘AR 208 ARArHIRI 52 USRALS ¢

(A) dgeid (B) &l

(C) deu¥ (D) =AsqaL AR
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PL-2 (65) B
SECTION-1V /@Us -1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

70 @ug 1 g IwEvs Ui [V (a) TG a1 faeme wg [V(b) amifees 3eag & | SFi STEvel %
Tl § 60 sgfamefia yE & |

gdieaeff i 1V (a) 7iora qen fagm sruen 1V(b) smiies teeq, et 93 ATarsd e -99 1§
for &, W 9 et weh 3T@ve i g1 8 vl Wit 60 Wi H ST AR |

SECTION-1V(a) /@Y€ — IV(a)
MATHEMATICS AND SCIENCE / ot a2 fagm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

30 @S i el 60 33 § | o araiat 3 su fowe w1 = foen 2 52 avft woa e e €

91. The longest side in a right-angled triangle 1s called :
(A) Hypotenuse
(B) Perpendicular
(C) Base
(D) All of these
auah I S 1 ged @l Y1 FHgard! & ;
(A) i

(By <=

(C) IuR
(D) Ty
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92. Ifin the given figure PS|IQR, then the value of ZQPS is:

(A) 36° (B) 90°
(C) 54° (D) 100°
afe fed v fr 4 PS|QR &1, @ LQPS HIAH R :

(A) 36° (B) 90°
(C) 54° (D) 100°

93. The sum of all the interior angles of a pentagon is :

(A) 360° (B) 500° —
(C) 450° (D) 540° O
TS < [t 37d: IV AR :

(A) 360° (B) 500°

(C) 450° (D) 540°

94, The radius of a circle is 6 cm and P is any point which is 10 cm away from the centre. The
length of the tangent drawn from P to the circle will be
(A) 6cm (By 12cm
(C) &cm (D) 10cm
s ga $i B 6 Tft 2 awr PR fag A S A & 10T L R | P & g o ER i ok
$i F‘lﬁl'lg Eﬁﬁ :
(A) 6&Ht (B) 1244t

(C) &t (D) 108H
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95. In aright-angled triangle, if its sides are 15 cm and 8 cm perpendicular to each other, then
its perimeter will be
(A) 40cm (B) 38cm
(C) 46cm (D) S50cm
wh e s 7, afe suehi et 15 Ffier aik g dddie v gut % oeed &, ot @
qimm E.hl"'l'l :

(A) 40t (B) 38 Gt
(C) 46dH (D) 50 &+
96. The arithmetic meanof 1, 2, 3, 4, .... n numbers will be :
n n+1
(A) 3+1 B 5
n n—|
© 3 (D) —=—
1,2, 3. 4. ... n WA I GHT-L AT T
n n+ 1
(A) 3+1 (B) = ERE
w N n—1 o
© 3 ™ =
97. The difference between the upper limit and the lower limit of a class is called :
(A) Frequency (B) Mode
(C) Class size (D) None of these
Terdit a1 <t SwR1 Himn 92 e o 1 3R a2
(A) AT (B) ©gd%
(C) =AM (D) 3 ° Hrd I
98. The co-ordinates of the origin are :
(A) (1. 1) (B) (-1,0)
(C) (—]-.—]}_ . (D) (0,0)
e famg o fidmes &
(A) (1, 1) (B) (-1.0)
(C) (-1.-1) (D) (0,0)
99. Ifa dice is thrown once, then the probability of getting a number greater than 6 is :
1
(A 0O B) %
2
(© | D) &
Ife U T Teh SR IBTAT AT 2, a1 6 H TSt T&AT 37 <ht Iifehar 2 ;
1
(A) O (B) 6
2
) 1 (D) 6
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100,

101,

102.

(68) PL-2

Which of the following statements is not related to the nature of Mathematics ?
(A) Mathematics is study of numbers, places, measurements, etc.

(B) Mathematics has its own language terms, concepts, formulas, etc.

(C) The knowledge of Mathematics is not logical.

(D) The knowledge of Mathematics is the same in the whole world.

o= 1 1 a1 e Tifra bt wpfa @ wefa T @ 7

(A Tifrd o gl Wi, gEt srfe s sreaaa fea smar g |
(B) ifore bt 31oft s e, oo, g anfe i # |

(C) Tiford 1 1= arfhes T FaT 2 |

(D) ifUTa =1 S 9% STd T Qo= %9 1 2T 2 |

i

“Mathematics is the language in which God has written the Universe.” This statement is
told by

(A) Galileo (B) Locke

(C) Bertrand Russell (D) Lindsay

“TTford g WTeT & Forem e 3 gepel s A1 stenve W o e 2 1 98 e fohed e
(A) TrefifoEn (B) @ik

(€) w38 el (D) fored

According to Napoleon — “The progress and the improvement of Mathematics are linked
to prosperity of the state.”

This statement corresponds to which value of Mathematics ?

(A) Disciplinary value (B) Social value

(C) Aesthetic value (D) International value

AT % STgER — “Tifor i I=fa qn afg 3w F qer=a 9 gafa 2 17 98 we e &
form your 9 wefaa g

(A) IIEATHS YA (B) @I gedl

(C) Hicaicns qoa (D) FaUgHE g
The author of the book “GANITA SAR SANGRAH" is :

(A) Aryabhatta (B)  Shri Dharacharya
(C) Pythagoras (D) Mahaveeracharya
“TiftTe AR FUE AT TEh & oG 8 :

(A) 3mdug (B) it =

(C) TTSUTTHE (D) wgretoE
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104, [n which method by moving from ‘Particular to General’, we generate formulas in

106.

107.

108.

(69)

Mathematics ?

(A) Deductive Method (B) Lecture Method

(C) Inductive Method (D) Project Method

form farfer 1 “farfere & =’ 46 3R S §¢ g8 v | g3 6l @ R @ ¢
(A) T fafa (B) =arEaM fafy

(C) e fafy (D) s fafy

. The knowledge of which of the following is most helpful in painting ?

(A) Geometry (B) Statistics

(C)  Anthmetic (D) Function

frafafiaa § 9 ferae s Faaswen 1 waifys g 2 7

(A) T@mford (B) wifexshi

(C) v (D) eH

Which of the following 1s not an evaluation method ?

(A) Interview (B) Preparation

(C) Questionnaire (D) Check-list wem
frafefiga 3 & i3 o s i wfafu i 2 7 o
(A) HIATERR (B) o9y

(C) TeTae (D) T%-fo=

The evaluation process is related to :

(A) Educational objectives (B} Ewaluation method

(C) Learning experience (D) All of these

TeTehA Szhan waferd it 2

(A) Tnegor SRt & (B) e wfafu &

(C) ftrm Jiwa & (D) @RS

The purpose of diagnostic testing 1s :

(A) To guide learning methods.

(B) Classification of students according to difficulty level.
(C) Detecting lack of achievement in particular subject.
(D) Al of these.

Fremmens e wr3Evm 2

(A) 3w ugfad 1 feen-fdy & |

(B) hISATS T % MR T BT =hi aTi{ehT0T LT |
(C) Tawx fasr 3§ Iuafey € st 1 var e |
(D) Tt
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109,

110.

112,

(70) PL-2

Which method follows the principle of a process of combining different statements or
parts to get something new ?

(A) Lecture method (B) Heuristic method

(C) Analytic method (D) Synthetic method

oo faf o 3 721 wa = & fora fafvms suat an vt & g9 6t i & fugra i
T Bt 2 7

(A) =ar=aH fafy (B) wgfifees fafy

(C) fargerm farfey (D) wyerw fafy

[f(\ﬁ)s x 92 = 3" x 34/3, then the value of x is : EEE
(A) 4 (B) 5 OkeS]
) 6 (D) 7
@ﬁ(\ﬁ)sx93=3"'x3‘\f?$ﬁ,ﬁ.x'$fqﬁ%:

(A) 4 (B) 5

€ 6 Dy 7

If (.\' ——D = 8§, then the value ot'(,v? + éj is :

(A) 64 (B) 68

(C) 66 (D) 4354

a2 (v 4) g (s o L]

(A) o4 (B) 68

(C) 66 (D) 4354

The factor of {x* — (x — y)*} is :

(A) y(2x - y) (22 - 2ay + y?) (B) y(2r+y) (2¥% + vy +y?)
(C) x(2x - y) (2¢ = 2xy — y7) (D) x(2x +y) (2% + 2xy + y7)
(x — (x— y)*} BITPHETE R :

(A) y(2x—-y) (2¥% = 2xy + y?) (B) y(2x+y) (2% + vy + ¥7)
(C) x(2x-vy) (2x% — 2xy — y:} (DY x(2x+y) (2% + 2xy + yz]
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113. The sum of two numbers is 22 and the sum of their squares is 404, then the product of

114,

116.

(71)

those numbers is ;

(A) 44 (B) 80
(C) 36 (D) 40
Sl GEIAT 1 a1 22 7 31 37%h a1 1 I 404 B, A1 37 FE3 1 PHEBA &
(A) 44 (B) 80
(C) 36 (D) 40

The sum of the digits of the minimum number by which 1800 1s multiplied to get a perfect
cube number is :

(A) 2 (B) 6

() s (D) 4

I2 gAad e frad 1800 1 700 A W TH JU1 94 &A1 UTSd &, % 37l Bl T 2
(A) 2 (B) 6 mm

(C) 5 (D) 4 =

. . 41 . 1 . - .
. If a sum of money becomes 20 °f itself in g yearata particular rate of simple interest, then

the annual rate of interest is :
(A) 5% (B) 7.5%
(Cy 10% (D) 2%

aﬁémmwmsﬁlqm%ﬁmam%aﬁ mm%ém%, a1 =T I =T X R
(A) 5% (B) 7.5%

(C) 10% (D) 2%

[n how many year(s) will T 2,000 become ¥ 2,420 at 10% per annum compound interest 7

(A) 2 years (B) 1 year

(C) 3 years (D) 2V years

10% aTfies =rshafa & ot T 2,000 fohe o 1 7 2,420 21 swdn 2
(A) 274 (B) 1

(C) 3ad (D) 2%ed
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117. If the selling price of 7 articles is equal to the cost price of 6 articles, then what is the
percentage loss ?

(A) %% (B) 14%%

(C)y 13 %% (D) None of these

afe 7 aqait 1 fosha g1, 6 %q 3t 6 9 Goa % s &1, a1 foha wfera zifa geft 2
(A) ?%% (B) 14%%

(C) 13%% (D) ¥ & HIE T

118. A bag contains ¥ 20, T 10, ¥ 5 notes in the ratio 3 : 4 : 5. If the bag contains T 1,000 in
total, then the number of ¥ 5 notes is :
(A) 32 (B) 25
(Cy 24 (D) 40
TFHAAHT20,310,35FAR3:4:5F A g | I IA T A ¥4 T 1,000 7, A T 5
& A1l 6l TSI 2 :
(A) 32 (B) 25
(C) 24 (D) 40

119, If the sum of the numerator and denominator of a fraction is 55 and the value of the

3
fraction is @ then the fraction is :
Em

20 10 o)

(A) 35 B) 13
. 5

(C) 50 (D) None of these
afz el forr 35 3o 3ik g 4 55 8 e o o S 8, 4 et 2

20 10
(A) 35 B) 75

5 -
© 35 (D) ¥ & 1 T

120. If a transversal intersects two parallel lines, then each pair of corresponding angles is :

(A) Half (B) Double
(C) Equal (D) None of these
afe ueh feifeh Y@ & wier Tt =i afaede A, o Sd i 1 Tes I 81 3
(A) e (B)
(C) R (D) ¥ & IS T
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121. Laboratory method is based on which principle ?

122,

123,

124,

126.

(A) Learning by seeing (B)
(C) Learning by rote (D)
e fafy fera fagra wanafm @ ¢
(A) TEH I (B)
(C) T " (D)
Synthetic fibre among the following is :

(A) Nylon (B)
(C) Wool (D)
frafafga @ 8 avafmwn 2

(A) AR (B)
(C) = (D)
The symbol of potassium element 1s :

(A) P (B)
(C) Pt (D)
Trefirem o = w2

(A) P (B)
(C) Pt (D)
Chemical formula of aluminium nitrate is :
(A) AINO, (B)
(C) AL(NO,), (D)
Ui Argee =1 Tarfe 97 2 :

(A) Al NCI3 (B)
(C) AL(NO,), (D)

(A) Mixture of grain and husk

(B) Mixture of grain and pebbles
(C) Mixture of wet sand and pebbles
(D) Mixture of sand and water

Learning by doing
All of these

FTh HiEgH
g vt

Cotton
Silk

o)
]FE

Al (NO,),
AL(NO,),

Al (NO,),
AL(NO,)

~
]

5. Which of the following mixture can be separated by the winnowing method ?

frafafaa 1 @ 1= ar fugm e faf gro gy fean snasa 2 7

(A) 3T=TUT T & 1 s
(C) et fudt aen s 1 fismn

(B)
(D)

Synthetic indicator among the following is :

(A) Litmus (B)
(C) China rose petals (D)
frafafea o o svafva o+ 8

(A) foremm (B)
(C) T8 i ugfear (D)

ATV AT Hehg H1 [

EEGEIRIEICaREC |

Turmeric
Phenolphthalein

geel
AR
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127.

128.

129,

130.

131,

132,

(74) PL-2
The pair of green-house gases is :
(A) 0., CO, (B) CO,,N,0
(C) N, CH, (D) 0, H,0
gia-T i w2
(A) 0,,CO, (B) CO,,N,0
(C) N, CH, (D) 0,,H,0
Audio-visual teaching aid among the following is :
(A) Radio (B) Chart
(C) Tclcvision (D) Blackboard
frafafiga 3 3 yer-g7a frem aem 2
(A) e (B) =% @%
=
(C) a‘:(aﬂiil (D) FEMHIEL
Which bacteria is found in roots of leguminous plants as symbionts ?
(A) Rhizobium (B) Bacillus
(C) E.coli (D)  Achromobacter
egfiata diei i SIS i o Sfar] gesiied % 9 8 9 g 7
(A) TrgIfeem (B) dfaem
(C) §.aplcrrs (D) UshiHTaiee
Which edible part is modification of stem ?
(A) Turnip (B) Carrot
(C) Sweet Potato (D) Potato
fre o @ S T v e & o wIaw R 7
(A) WeTsH (B) TSR
(C) TRl (D) 3ATe]
Which of the following is a simple tissue ?
(A) Xylem (B) Phloem
(C) _Sclcrcnchyma (D) None of these
7 9 3 v e A 2
(A) g™ (B) TeAUH
(C) ThAARTEI (D) 3 9§ His T&
Which of the following is not an air pollutant ?
(A) Carbon mono-oxide (B) Nitrogen oxide
(C) Methane (D) Oxygen
o 3§ @ i oy gy i 2 7
(A) TET HHT- TS (B) ATEZISH HATeaTSS
(C) ue= (D) INfraA
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(75)
Sacred groves are found in
(A) Khasi and Jaintia hills of Meghalaya
(B) Aravalli hills of Rajasthan
(C) Western ghats of Maharashtra
(D)  All of these
ufa= 3994 qrv S 8
(A) Were <t @t o saf<man qerfeai |
(B) USrEAA & Sraell Tad el §
(C) WEME < qfvadt are o

(D) T at

134. Which bacterium causes pleurisy disease in human ?
(A) Mycobacterium tuberculosis
(B) Corynebacterium diphtheriae
(C) Mycobacterium leprae
(D) Neisseria gonorrhoeac
A B Sfam] & e 1 ot I Ee g 7 o
(A) WTEHEFITE S ad g
(B) wHHiRsiwAfm feweiiar
(C) uTghlaadfEm eud
(D) g T

135. Which type of sebaceous glands present in human skin 7
(A) Apocrine (B) Merocrine
(C) Holocrine (D) Eccrine

136.

137,

o e Y Sl aaf s A s H a7
(A) THHIEA (B) TR
(C) TR (D) TshlsA

Disease caused by deficiency of Vitamin A is :

(A) Night-blindness (B) Beri-Beri

(C) Scurvy (D) Rickets
faafimA) Fi s A g aen 2

(A) Tl (B) si-aht

(C) e (D) feheH

[n which phase of cell cycle, synthesis of histone protein occurs ?
(A) G,-Phase (B) S-Phase

(C) G,-Phase (D) M-Phase
HITIRT T5F <l HiF Dt e § fEEm I8R5 geemv g 2 7
(A) G,-Sraen (B) S-"=EEI0

(C) G, Sraen (D) M-STerE

https://www.pygonline.com


https://www.pyqonline.com/

140,

141.

142.

(A) Insulin
(C) Melatonin

(76)
. When was the Family Planning (Family Welfare) Programme started in India ?
(A) 1947 (B) 1951
(C) 1958 (D) 1960
YA ¥ THER FRIISH (THER Hed11) FHREHH i AT % 55 off 7
(A) 1947 (B) 1951
(C) 1958 (D) 1960

. Which of the following hormene supports pregnancy ?

(B) Adrenaline
(D) Progesterone

frmfefiga 3§ 9 = 91 gW S9ad 4 98E6 & 7

(A) e
(C) TeAelt-[

(B) ufgaet

Which of the following is not an example of Kharif crop ?

(A) Cotton
(C) Maize

frafafiga 1 @+ w1 @i i woa #1 eEm FE @ 7

(A) HIH
(C) WahT

(D) 9T

(B) Soyabean s
(D) Pea &
(B) T

(D) WX

Which of the following is not a scientific teaching method ?

(A) Anecdote method

(C) Psychophysical method

(B) Evaluation method
(D) Questionnaire method

Frafafiga @ 9 = = v Amfes few fafa =i g 7

(A) wart fafy
(C) ATl fafu

(B) Heaipd fafy
(D) gwATEE fafer

The main objective (aim) of evaluation 1s :

(A) Removal of students errors.

(B) Measurement of students achievement.

(C) Give promotion of students.

(D) Diagnosis and treatment of learning deficits.

HeATeh 1 & 3¢9 &

(A) Torenfefant i gfeat femrem |
(B) Tonemferai <6 Suerfey =1 AT |
(C) Toenferai st gi=ifa wem & |
(D) e i w3t 1 Fem v 3T S |

(A) Movie
(C) Laptop

3. Which teaching aid is not included in the audio-visual equipment ?

(B) Television
(D) Epidiascope

i 1 fer-wgres ammil, e -gva 3w 1 aftfad 78 8 7

(A) =eIrad
(C) euei

(B) oefifasm
(D) Toa-fawar=s
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144, Correct decreasing order of friction foreces is :

(A) rolling, static, sliding (B) rolling, sliding, static

(C) static, rolling, sliding (D) static, sliding, rolling

=Y ST I T Hedl F 1

(A) <, wifas, adf (B) e, adf, @fas

(C) wferh, wiref, adfi (D) wiferp, wdf, wirefr =

145. An object is moving on a circle of radius R. When it completes half circle, then the
distance and displacement travelled by it will be :

(A) =R, R (B) 2zR,R
(C) =R.2R (D) 2xR,2R

RIR T F TR REA R | TR IS W AN, A Es gu A Rt T
e g

(A) =R,R (B) 2zR,R

(C) =R,2R (D) 27R,2R

146. A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of radiation.
(B) becomes cold by the process of convection.
(C) becomes cold by the process of conduction,
(D) does not become cold.
TSl <l Uk THE I STFHHIT P @Il § g1 ST 2 | 39T gay
(A) Tafesor 6 uferan < R 31 2 st |
(B) Geag <h! 9fshar & I 31 & s |
(C) =ITer <t Wik % HTor 31 & S |

(D) 3T &1 8 |
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147. The value of x in the given diagram is :

Normal
Incident Reflected
ray ray
30°)
Plane Mirror
(A) 15° (B)y 30°
(Cy 90° (D) 60°
HAfirens
femron farm
307 x ERE
O
Huad gdul
(A) 15° (B) 30°
(€) 90° (D) 60°
148. The frequency of a sound source is 50 Hz. In 2 s number of vibrations will be :
(A) 25 (B) 50
(C) 100 (D) 200 )
ferelt o e 1 21gf 50 Hz & | 35 2 s W i 1 wean g
(A) 25 (B) 50
(Cy 100 (D) 200
149. LED emits Light :
(A) Only green colour (B) Only red colour
(C) Only yellow colour (D)  All of these
LED Tehl¥T 3cafild iar & ;
(A) el 80T (B) helet ofTeA T1
(C) <had diar @ (D) g
150. Which of the following is not a member of the solar system ?
(A) An asteroid (B) Meteors
)y A satqllitc (D) A comet
frafafigd @ @ o= g Tfer #1 gea & 2 7
(A) ¥eu (B) Sewhrd
(C) IR (D) ¥Eg
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SECTION-IV(b) / @S — [V(b)
SOCIAL STUDIES / SIS 31e98

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

T @vs 1 F 60 WA § | Fom srafiii 3 g fawr @1 wa= foren @ 3% woft wom e aifari 2

91. What was Khud-kashta and Pahi-kashta in Mughal period ?

(A) Types of Revenue (B) Types of Crops
(C) Types of Administration (D) Types of Farmers
T H Geehiod d TTigshea 1 9 7

(A) TSFE $ THR (B) HHeAl < ThR

(C) YITEH % T (D) TFami % yBR

92. What was the relation of “Manzil-abadi”, “Sipah-abadi™ and “Mulk-abadi” during the
Mughal period ?

(A) Part of Book (B) Portion of the Population
(C) Part of Revenue (D) Part of Administration
qctehlel H “Hisei-3mard)”, “faag-3mardt” 9 “gesh-31mard)” 1 qay foeod ot 7
(A) T b U (B) SHEET % WA
(C) T = W (D) FSITHA & W
93. Who got the book published under the name *“Stripurushtulna™ ? DfaL]
(A) Tarabai Shinde (B) Pandita Ramabai ®
(C) Jyotirao Phule (D) Rashsundari Devi
“Hieagen1 am & ferara fea weTfia warg 7
(A) AT 197 (B) vifed g

(C) =Efeua gt (D) Torgedt <t

94. When was the parallel government (Prati Sarkar) established in Satara, Maharashtra ?

(A) 1941 (B) 1943
(C) 1945 (D) 1947
HEATS % G 3 GHHEA0 SR (Sfd TeRr) i TTTE1 e i T8 7
(A) 194 (B) 1943
(C) 1945 (D) 1947
95.  Which word is not given in Preamble of the Constitution of India ?
(A) Belief (B} Faith
(C) Worship (D) Language
I < GfaaE 61 32 4 o o1 vse 4 feanman 2 ¢
(A) fawamm (B) wd
(C) 391EqI (D) wmHT

96. When was Street Vendors (Protection of Livelihood and Regulation of Street Vending)
Act came in force in India ?

(A) 2010 (B) 2011
(C) 2013 (D) 2014
o 1 7 faskan (Sffersht Treror 3T vy fasra fafirnmm) srfufem e amp gan 7
(A) 2010 (B) 2011
(C) 2013 (Dy 2014
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97.

98.

99.

100.

101.

102,

103.

(80) PL-2

“The Idea of Residual Powers™ provision in India is adopted from which Country’s constitution ?
(A) British Constitution (B) United States Constitution
(C) French Constitution (D) Canadian Constitution

“ sratyree el =1 fag@’ =1 Yy 9Ra ° fed ov & dfaue 3 fqm man g 7
(A) Tafes afeam (B) it & afaum
(C) i = afaum (D) TSN % BfauH
In India after the death of President Fakhruddin Ali Ahmed who acted as President of India ?
(A) B.D.Jatti (B) V.V.Gin
(C) Zail Singh (D) N.S. Reddy .
| 1 gl FEEEH el HA8HG i G & A1G HrIargsh Uegiid & €1 4 foheq Rl o ?
(A) .21 F= (B) <. firty
(C) < fiig (D) TH.UH. &

Which two states have same number of Lok Sabha Constituencies ?
(A) Uttarakhand, Jharkhand (B) Kerala, Karnataka
(C) Andhra Pradesh, Rajasthan (D) Punjab, Odisha
o1 1 Tl 1 A et - & i wen JuE 8 ¢

(A) ITEE, ANES (B) A, FAEH
(C)  3TTY 99, TSI (D) w,aﬁ%&n
Toll free Helpline Number for Children who are in need of care and protection is —
(A) 1095 (B) 1096
(C) 1097 ' (D) 1098 DR
el 1 gfaun vd weg % foru figes Boganga T & - ©
(A) 1095 (B) 1096
(C) 1097 (D) 1098

In India which Constitutional Amendment determined the size of the Council of
Ministers ?

(A) 81 (B) 91
(C) 101 (D) 102
W o fopm wfaum gviiva g afaferg s smer fuifa T mn 2
(A) 8l (B) 91
(C) 101 (D) 102

In 1989 which Committee recommended Constitutional recognition for the local
government bodies ?

(A) P.K. Thungan Committee (B} B.R. Mchta Committee

(C) Ashok Mechta Committce Sadik Ah Committee
%Dﬁmmﬁﬁﬁm:ﬁamzﬁﬁm@aﬁaﬁmﬁmmmmﬁmﬂﬁ ?

(A) ek, g wfafa (B) .31, ugar afufy

(C) e g wfafa (D) e et wfifa

‘Abolition of titles” is a part of which Fundamental Right 7

(A) Right to Equality (B) Right to Freedom

(C) Right Against Exploitation (D) Cultural and Educational Rights

“Furfert <1 3’ fopa wiferen rfuer v famm 2 2

(A) HEAT I AMIHR (B) TaHdl 1 3UHR

(C) iYW o foreg i (D) wiepiaes A A sfasn
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104, Identify the correct group of Scheduled languages in the Eighth Schedule of the
Constitution of India.

(A) Bengali, English, Sanskrit (B) English, Hindi, Sanskrit
(C) Santhali, Hindi, Sanskrit (D) Guyjarati, Marathi, English
YA % dfaue i srsd FgE § srEfea |rst & @8 Tg S ugha |
(A) W, 3T, Hpd (B) 3mrsfl, e, weapa
(C) wereft, f&dh, aeha (D) TS, T, iU
105. The circle that divides the day from night on the globe 1s called —
(A) Circle of illumination (B) Equatorial circle
(C) Elliptical Orbit (D) Summer Solstice
e T g g S 7 vd Ta i fasnfea e 8, FEem g -
(A) wdfed ga (B) smead™ 9a
(C) Eefgarpray (D) IR AT
106. Katabatic winds blows from —
(A) From Valley to Mountain (B) From Mountain to Valley
(C) From Sea to Land (D)  From Land to Sea
3aiE ga- yafed gt 8 -
(A) =TS ¥ Tdaq hHl TWE (B) wdad = Hlaw mem
(C) TYE % T hl @l® (D) REugEHias O
107. Approximate Extension of the shadow zone of S-wave is —
(A) 105°to 145° (B) 105°to 105°
(C) 145°to 145° (D) 90°to 90°
S~TT % BTAT &7 Bl ferar o 8 —
(A) 105°% 145° (B) 105°%F 105°
(C) 145°F 145° (D) 90°F 90°
108. On which beach is Kayal located ?
(A) Malabar Coast (B) Konkan Coast
(C) Kathiawar Coast (D) Coromandel Coast
Fared fra ae m i 8 7
(A) WTETER T2 (B) iU e
(C) IS @ (D) HIHSA a2
109. Batholiths, Lacoliths, Lapolith and Phacolith are related to
(A) Earthquake (B) Volcano
(C) River (D) Gravitational force
d9ifery, eipifar, edifery 9 heifay amafm & —
(A) HH Y (B) wararE A

(C) @ (D) TEcaTHY o T
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110,

112,

(82)

Which statements about the “Faience” are true ?

(I)  Faience mines have been found in Mehrgarh.

(I) Faience were found naturally.

(ITI) A gum was used to shape sand or powdered quartz into an object.
(IV) The objects were then glazed, resulting in a shiny, glassy surface.
(V) Faience was used to make beads, bangles, earring and tiny vessels.
(A) LII I (B ILIIL IV

(C) ML, Iv,V (D) 1V, V.1

W AR Y e we d 7

() = &l WeH Hgure | fieft 8 |

(1) o= SIThfaeh o o aTe 91T & |

(L) =Te] a1 Thieeh Te2t % o1 i 7iie & fierment 378 aqd s=rs st off |
(IV) 35eh 91¢ 3 T30 T U Tt uae Sers wret oft |

(V) a0 8 s, e, 3ues 3R B2 96 s 9@ & |

(A) I 1L, I (B) 1L I, TV

(Cy ILIV,V (D) IV, VI

Which statements are true about Rigvedic period ?

(I)  Soma was a plant.

(11} Brahma, Vishnu and Mahesh were the main deities. o
(Il Called Sukta or “Well Said™.

(IV) Upanishad and Aryanak texts were composed.

(V) Indra was not the god of warrior.

(A) LI (B) LIV
¢y V.V (D) LV
SRrelfeeh Hid o i hH A FUH TA§ 7

(I) |9 Teh T T |

(1) sram, feso 3 wgwr yq@ 2aen 9 |

(L) & 1 HaeTel, <l aig | siell 7/ o |

(IV) 3ufAue o Aogs 1y = 1 o |

(V) 2 Jg & Y9E <aar &l o |

(A) L1 (B) 1L IV
(C) IV,V (D) I,V

PL-2

Which Buddhist text contains a dialogue between, a king named Avantiputra and a

disciple of the Buddha named Kachchana ?

(A) Deegh Nikaya (B) Khuddak Nikaya

(C) Majjhima Nikaya (D) Anguttar Nikaya

U U1 A 311 §g o ) Fd & fig Gae s A dg uy d 2 7
(A) &b fFwm (B) s FHam

(C) wfsem frpma (D) e faeer
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113. Which Buddhist text contained a set of rules and regulations for those who joined the
sangha or monastic order ?

(A) Vinaya Pitaka (B) Sutta Pitaka
(C) Ahhid_han‘lma Pi_laka o (D) ) hJataka ) _
SiF B dig T 1 dig w5 A1 AST 3 @A arel @i % fore frmt o ww on
(A) fama fies (B) ¥ fies
(C) e faes (D)
114. Which is included in the six school (Shaddarshan) of Indian Philosophy ?
(A) Satyaarth Prakash (B) Vaishesika
(C) Mahabharata (D) Upanishad
W 2o < B: ugfa (vgeel) A mfra 2 7
(A) Hemd TR (B) <Sifys
(C) HEHTE (D) Iufg

115. Who came to India during the Mauryan period as the ambassador of the Greek ruler of
West Asia named Seleucus Nicator ?

(A) Fahien (B) Xuan Zang
(C) Itsing (D) Magasthenes
ufvem TR % A e Aegehd FHehet o Tsigd % w4 H dRishre #§ Rd % 11 7
(A) rEm™ (B) v =@
(C) sfam (D) TS mam
116. State the complete true statements about Arikamedu. Ol

(Iy  TItis located in Puducherry.

(I1)  Arikamedu was a Coastal settlement.

(TIT) Other finds include pottery such as amphorae.

(TV) Items related to the Greek Empire have been found here.
(V) The kings here were Chera Dynasty at that time.

(A) I, 11, 111 (B) LIV, V
IV, V, 1 (D) V, IV,
Hﬁﬁﬁg%%@ﬂ@www|

() g ygad 4 feya ur |

(1)  Afeerig mewagol T o |

(1) =&l U S e et € |

(IV) 98T o AT wrr=a & weifera aegd fire € |
(V) T&f < Tr=1 =7 9t & |

(AYy LI I (By IILIV,V
(C) IV.V,I (D) V.IV,I
117, The Chinese Pilgrim ‘Xuan Zang’ lived in the court of which King ?
(A) Chandragupta (B) Samudragupta
(C) Harsha (D) Kanishka
At defaEh “sdm T R TS S e TR Y ¢
(A) == (B) HHATA
(©) =& (D) &=
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119.

120.

121.

122,

(84) PL-2

In which play we find an interesting deseription of the plight of a poor fisherman in Gupta

period ?

(A) Harshcharit (B) Abhigyan Shakuntalam

(C) Mudrarakshasa (D) Mrichhakatikam

I & e T H BIA § U TS AP 6 1 TThHATE  GHagR 1 a1d Hal g 8 ¢
(A) evafE (B) af¥rem wrehaery

(C) TZFIeT (D) TeHhiehn

Where is the temple of **Bhitargaon™ situated ?

(A) Uttar Pradesh (B) Bihar
(C) Orissa (D) Bengal

“forerta” o1 wfeT el w e 8 7

(A) I ¥ (B) fasr

(C) IS (D) &M

By what name are the teachings of Shankardeva who was the main propagator of
Vaishnavism, addressed in the late fifteenth century ?

(A) Vallabh Dharma (B} Krishna Dharma

(C) Guru Sandesh (D) Bhagavati Dharma

UgEdl vdredl % I H Iehicd, W J9G U % e Y= O, & ITCH i fhw A W
Teifed ferar ST @ 7

(A) T o (B) o u s' &
(C) TEEH (D) SATaeh e

Which of the following are correct statements with reference to district and projects ?
(1) Chittorgarh — Rana Pratap Sagar Dam

(2)  Ajmer — Bisalpur Project

(3) Udaipur — Mansi Vakal Project

(4) Pratapgarh — Jakham Project

(A) (1), (3,4 (B) (1),(2), (3)

€y (2),03).4) (D) (1),(2). (4)

fsren wd aftre & g § fftcfag s a s a e ad € ¢

(1) Taxiteng — uon yam grr afy

(2) ISR — STEAYE TS

(3) 3T — " arhed TR

(4) WATTIE — SITEH qiEsHEl

(A) (1), (3), (4) (B) (1),(2),(3)

©) 2.3).® (D) (1),(2), (4

[n which Crops Rajasthan is the top producer in India ?

(A) Mustard, Chickpea, Dewgram

(B) Psyllium husk, Cumin, Cluster bean

(C) Chickpea, Green gram, Black gram

(D) Green gram, Maize, Pearl Millet

for1 Baal o ITUTEH H TSRS 1 YRA T Y90 TIH 8 7

(A) G, =, 013 (B) SHerTiet, SR, S9R

(C) =T, 971, 353 (D) 97, HFRT, S0
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123. During 2001-2011 Population growth rate of Ganganagar district is —

(A) 10.0% (B) 16.9 %
(C) 325% ‘ _ (D) 21.3%
2001 | 2011 z1afa % R IR et ) SEen gig e —
(A) 10.0% (B 16.9%
(C) 325% (D) 21.3%
124, Which ruler of Mewar was given the name of “Vishamghati Panchanan” ?
(A) Rana Hamir (B) Rana Lakha
(C) Rana Kumbha (D) Rana Udai Singh
“Feremend) geR " < wIn Hare % fopu w1 d e ot
(A) TOTT g4I (B) Tom ATt
(C) Tum (D) TN 3eafig
125. Who was the Maharana of Udaipur at the time of revolt of 1857 ?
(A) Jaswant Singh (B) Swaroop Singh
(C) Udai Singh (D) Ratan Singh
1857 =hi ShiTd b THA IGAL = HERWN i & 7
(A) SHadRE (B) TEETHE
(C) Jeafde (D) TaAfug
126. Where was the third session of “Rajputana Madhya Bharat Sabha™ held ?
(A) Nagpur (B) Jaipur
(C) Ajmer (D) _ Dethi ERE
“TSIYAHT JE WA |91 3l e AT 8l WA ¢ o
(A) AT (B) =&
(C) 3R (D) feeett
127. Who was made the Prime Minister of Greater Rajasthan ?
(A) Haribhau Upadhyay (B) Gokulbhai Bhatt
(C) Hiralal Shastri (D) Tikaram Paliwal
“Sad TSR o SUHEE fhdt s man o 7
(A) ETS 3T (B) TipHeTHTS Wg
(C) et wreft (D) IHRM dreitard
128. Who is known as “Banasur ka Shaheed™ ?
(A) Kesari Singh Barahath (B) Major Saitan Singh
(C) Pratap Singh Barahath (D) Havildar Major Piru Singh
“STUTTE 1 W& AT & S 91 Y@ Al A= a1 8 7
(A) Halfug anEs (B) W AqHTHE
(C) wamfés anEs (D) &aeier Ha frefie
129. Who built Churu Fortin 1739 ?
(A) Jaswant Singh (B) Rai Singh
(C) Kalyanmal (D) Thakur Kushal Singh
<% g1l w1 fmior 1739 9 forer e 2
(A) “HaAEE (B) afdg
(C) <hAHA (D) QT I ﬁﬁ

https://www.pygonline.com


https://www.pyqonline.com/

B (86) PL-2
130. Tulsi, Haalro, Timaniyan and pot ornaments are worn by women in which part of their
body ?
(A) Head (B) Neck
(C) Hand (D)  Waist
qert, grew, femforat qem o T smyaor afEenat gr I 5 B T W W e I # 7
(A) Tm (B) el
(C) =Y (D)
131. Which Film has been made on the book “Duvidha™ by Vijaydan Detha ?
(A) Mumal, Phulwari (B) Alekhu Hitler
(C) Duvidha, Paheli (D) Uljhan, Suljhan
fersrarera qon ) e “gfaen” B R fiven 1 Fafm g gw 2
(A) YA, Fear (B) 3ty fgeew
(C) gfau, wgeht (D) 3IeTgH, FeTzH
132. “Hela Khyal” is a folk theatre from which region of Rajasthan ?
(A) Dausa (B} Bikaner
(C) Sikar (D) Barmer
“FE BT AT I A1 USRI & i d 87 J gafaa 2 7
(A) drar (B) e
(C) iRt (D) @™ o730
133. What is Patelya, Bichhiyo, Lalar, and Machar ? ®
(A) Famous songs of Mewar (B) Famous songs of Marwar
(C) Famous songs of Mewat (D) Famous songs ot Hadoti
qeeT, Wi, Sen 9 aret e ¢
(A) Tare & gfug g (B) HRETS @ 9fag ia
(C) Hard & gfag 1ha (D) &rek % uftg e

134. “Social Science as a general term for all the sciences which are concerned with the human
affairs.” This is defined by
(A) Seligman (B) Mitchell
(C) Fairchild (D) Peter Lewis
grfses fasm 33 aoft fasmal & foro ves o sree & wq o S oea gwe @ gefud 8
7 gftnfya fomam mam 2
(A) HeTEA g (B) fiwra gm
(C) HIEEE gH (D) e wfem gra
135. Which of the following is an Audio — Aids ?
(A) Linguaphone (B) Over Head Projector (OHP)
(C) Epidiascope (D) Bulletin Board
ot 3 @ e ot e w8 7
(A) feiarsH (B) 3HiaEs Tadet
(C) fua fawans @= (D) eifed aig
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136. Which one is not a type of project method given by Killpatrick ?

(A) Constructive Project (B) Destructive Project
(C) Problematic Project (D) Practice Project
AR © ThiF |1 U Theriiees g fean wan s s YR @i g 7
(A) TEATEHS TS (B) Taeame ufEem
(C) THETHS TR (D) 3N qiEi==T
137. Who propounded the linear programmed instruction ?
(A) Norman A. Crowder (B} B.F. Skinner
(C) Thorndike (D) Thomas F. Gilbert
et sifiswfua srgem 1 wfere forea foman 7
(A) AU, F13e (B) .U, ThiT
(C) uiHeEREs (D) oy uF, fiesd
138. Which one is not a limitation of assessment 7 e
(A) Lack of time o

(B) More importance to the competition
(C) Conceptual error
(D) Freedom from fear and stressful environment

g0 S W U 3Tt I dmr i 2 7
(A) @9F i HHl (B) gfereqeri =1 siferes wawe
(C) HHFHTETF e (D) ¥R U@ Tl 9iee # it

139. Which one is not prerequisite of lesson planning ?
(A) Knowledge of subject
(B) Knowledge of learner family background
(C) Knowledge of child psychology
(D) Knowledge of methods and techniques
HI i T UTS FST hI TaTe TE 2 7
(A) fawa 13 (B) Afemoeral <6l ariaiess gyl &1 M
(C) 9T T 1 76 (D) Taferai (feqor) wa ae-iehl &1 9

140. Which one of the following is correctly matched ?
(A) Socrates — Instruction method
(By Plato — Questioning method
(C) Herbert Spencer — Dialectic method
(D) Aristotle — Deductive and Inductive method

fatasRm s s gafaa & 7
(A) ged — e fafa

(B) woiel — T fafy

(C) =& W — ware fafy

(D) g — 3w 3k Fme fafy
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141. Which one is not a general objective of teaching of social studies ?
(A) Acquaintance with the environment
(B) Interest in socio-economic institutions
(C) Appreciation of cultural heritage
(D) Appreciation of caste system
hIH T Uk ATTaTeh 1o R %1 am R A R v
(A) Tt & aftfaa g (B) HrATfSeh - 3 et 4 sfy
(C) Hreepines ferad i wuen (D) afer-—we =i gerEn
142. How many steps are suggested for solving a problem ?
(A) 2 (B) 3
) 5 (D) 7
AL < WHIYH & foru feba =i o1 gama fen wn 2 7
(A) 2 (B) 3
) 5 (D) 7
143. From which layer of the atmosphere do radio waves come back ?
(A) Stratosphere (B) Mesosphere
(C) lonosphere (D) Exosphere
fea aiit arpiee i fHg w@ & Ay ard gﬁ"
(A) 9| WS (B) HIHEA
(C) 3 A (D) Tl Hew
144. Which of the following cyclone is called water spouts in sea ?
(A) Typhoons (B} Hurricanes
(C)  Willy-Willies (D) Tornado
3 5 @ forwr wrshama <1 Tz W S WY Had 8 ¢
(A) TFHA (B) &
(C) facfi-faeft= (D) 2rAS!
145. Which of the following currents are cold currents 7 https://www.pygonline.com
. Labrador current 2. Oyashio current
3. Benguela current 4. Alaska current
(A) 1,2,4 (B) 1,2,3
(C) 2,34 (D) 1,3.4
Frafafea umos % 9 %A @ 38 gRe g ?
. TIETSR 9/ 2. SArnfEr aw
3. dnuen um 4. AR U
(A) 1,2,4 (B) 1,2,3
() 2,3.4 (D) 1,3, 4
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146. During the time of perigee the tidal range is —

(A) Equal to normal (B) Less than normal
(C) Greater than normal (D) None of these
3T % g9E S A BT § —
(A) | & St (B) HHEH FH
(C) &= & s (D) 399 @ %l 7
147. Match the following torests and trees :

Forest Tree
(1) Tropical Evergreen (a) Spruce
(2) Tropical Deciduous (by Palm
(3) Montane (c) Mahogany
(4) Mangrove (dy Sal

Pl @ G @
(A) (d) (¢) (a) (b)
B) () (@ (b) (a)
(C) (¢) (d (a) (b)
(D) (a) (b) (¢) (d)

Frerferfiaa =il e gt 1 gifera Hifom
L EL:l )

(1) IUmRleTEaaqEer  (a) BE ®

(2) ITGfcag W (b)) dTE

(3) e (c) wErH

(4) (d) =@

M @ 3 @
(A) (d) (c) (@ (b)
B)y © (d O (@
(C) () (d (a) (b)
(D) (@ (b) (¢c) (d)

148. Which of the following is a group of Iron ore belts in India ?

(A) Singbhum (Jharkhand), Bailadila (Chhattisgarh), Nellore (Andhra Pradesh)

(B) Kudremukh (Kamataka), Mayurbhanj (Odisha). Bokaro (Jharkhand)
(C) Bokaro (Jharkhand), Bailadila (Chhattisgarh), Mayurbhan) (Odisha)
(D) Mayurbhanj (Odisha), Singbhum (Jharkhand), Bailadila (Chhattisgarh)
fafafiga 3 @ %= 1 wia ¥ dig s dfemi magg 2 7

(A) Tozym (smas), darfean (axhiamng), Jeati (3ny uew)

(B) $39E@ (FA1geh), WA (A1feI), T (INEE)

(C) WAl (FAR@s), Sertset (Sddiame), wgras (3fifsmn)

(D) W (3ifsen), fgym (wds), defsen (Bdamg)
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149, In which direction the Aravalli range extends in Rajasthan ?

(A)

South-East to North-West

(C) South-West to North-East
T T arraeh Tdamen fra oo § foega 2 ¢

(A) efeam-ud & se-ufvem
(C) <fem-ufram 9 Im-1

4
(d)
(b)
(a)
(a)

(a)
(b)
(c)
(d)

(90)

(B) North-West to South-East
(D) North-East to South-West

(B) Ia-ufgem & efeqor-gd
(D) IW-gd 9 gferr-ufzem

. Match the following district and climatic regions :

Climate region

Extreme humid
Humid
Semi-Humid

Dry

frafafea faei va sy veui =1 gifem Hifs .

District

(1) Jaisalmer
(2) Jaipur
(3) Sawai Madhopur
() Jhalawar

n @ Q)
(A) (¢) (b) (a)
(B} (d) (c) (a)
C) @ (b (o)
(D) @ () (b

foren

(1) J"er
(2) SAL
(3) el AT
(4) HreTEe

Mm @
(A) () (b) (a)
B) ) (¢ (a)
C) d (b) (¢
D) d () (b)

4)
(d)
(b)
(a)
(a)
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INSTRUCTIONS / fadm
(Read carefully and comply / &R & 93 3 rem =i)
IMPORTANT / wrererqei

[

[

. In Section 11 (Language-l) a candidate has to attempt the questions of the language which the candidate has selected as Language-1in the
I Section HIGT anguage-11) a candidate has 1o akcmpt the |.|ug_-.l.iun-. of the language w hich the candidate has selected as Language-1i in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the preseribed place in the

. The candidate has to answer of that subject in \suuml { I\ .J} Mathematics and Science or (1V b} Social Studics as sclected by the candidate

Online Applicatipn
b e I R

n. I . PR - - - =
AT W F B e A 2w oamn moSaw et 3 owm [ F B9 8 A aaea-ma § e 2

=11 will be different from Language-L
o1 safererme s Fa AT A o A A - 1 A e A -1 i fEm R - s - Enh o

Online Application Form, The Langu
AU UL AT 1) B FH S e e

OMR Answer Sheet, Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
Question Booklet '\umber
st

g e Mnsﬁzwﬁarfﬁawﬁmnm i =13 vg iz AT st OMR o2 1 qFuisT
TR mmrg afeF aEm- mﬁ'mmww@m Eﬂfl &1

in the Online Applicaton Form.

If a candidate answers the questions of EhL language or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it wo |I h.l .m,.j}.u wrong, o

e = 3| WE-TE F avE n'a} a1 (v by amtrE s § 3 fwg & we @ e aen 2, e fam s et
A e aWem-aa 7 femn . o ) _ _
iz werdi aTaE m-ww:mﬁﬂmmﬁmfﬁwmzﬂmqmdmhwiﬁummmm%maﬁ werdi 1w F fEEm

(]

1),

TR AHT Teld HAT AT |
Read complete instructions carefully and fill the details from SL No. | to 7 in the OMR Answer Sheet and 51 No. 1 to 4 in the Question
Booklet. If yvou fail to fill the details and sign as instructed coreectly, vou will be persanally responsible for the consequences arising during
scanning of vour {}\IHAJ]‘-\L&I Sheet.
fun =1 quf w0 & saaaET E A FEE 87 7 OMR ¥R w0 R g 7% vea-giem (FEee) 1 oad | afz am rem a6F § faam
ﬂmmﬁﬂmém(}fﬂkm?tﬁlwﬁﬂawmmwmmwﬁ AT T A B |
The l)m,»‘uc:n Baooklet l,nm]msgs\‘]'ﬁ Pages hay ||]g_ 150 quc'.tican\_ After hcing instructed 1o open the Booklet, only then the candidates will apen
the Question Booklet scals. Check whether the Booklet contains 150 questions starting from Page No. 3 1o 90 The Shift Number required in
OME Sheet will be as per admit card |\-uul o the candidate and also mentiongd un 1hg top of llu Question Booklet.
wsA-iETF] 7 96 98 T 150 Wi § | G .er‘fﬂ‘mTWPWH &1 #@ g | a8 _vF'IT"-'-‘J-;T‘?IﬁT-FFI'HHU
usa 3 S T UW W 3 f 0w ';0 g% ¥ | OMR stz w fargz ma -mm A (59 T T F s i wen & vg A
WA - UfEAT & S AW W oA T g 2
All questions are of MCQ (Multipte Choice Question) type. There is only one correct answer to each question carrying ene mark. There
will be no negative marking for wrong answers.
n‘mva-rrwfawq-ramwr | S A v fawe B wd ¥ | wew e T T it dwem # | e e ol werrer ofmn w Fisd i |
All (|u-.~l|0|l- other_ than language 1||u~st|un- of Sections 11 and 111 shall be hlill’l'j.l.ldl
WyA-T % AT wex [ ww 111 % Al 3 91 | WIS T WEA Faul
Inany event of any 111[_'1].'l|\<.'\ inany guestion's, candidates will not be penalized. However ng corrections will be made in question's durmg the examination.
vy 1 Tt s = ford a1 Tedt wepme = et =128 =2m ) e = i1 3 AT 8 T WeRT o AT A AT A |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off from the
m.-.lull'l Rooklet, No additiopal paper shall be provided.
1 WoFTE O TF T4 2 WA -1 A 8 e A W 2 | 7 e - @ A e, | Famft s Ao s saeen wd e |
Use of Log tables, Caleulator, Slide rule, Maobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic itemiinstrument
ete. 1s not allowed. Their use will result in disqualjfics nlon . L. . i
P P, FeFgeed, T T, AEES T, 4, I, ey, WEEEE M fEh g vER @ il 39 4 a w owEm atie
?l?ﬂtﬁ—mq—ﬁ.nq:ﬂmtrrfﬁhmmm?l )
OMR Answer Sh a8 will be prov ti-s.cl along with Question Booklet separately,
OMR T2 9 - & |14 WET & AT |
The Chuestion [3m1k||.‘l will be I‘-‘-lILd to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
AnswerSheet. The Question Bookletscal shall beopened S minutesbefore the start of examinationand the candidate must Gl 1 tod entries correetly
on the Question Booklet, Afteropening the Question Booklet, ensurc that any page/ question is not missing / not printed /torm / repeated. In case,
vou find any defect !11'\.'\.\|1=_|L in the Quu.tltrn Booklet, immediately inform the 1n'.|~!|l vorand get it IL|'I! wed within 5 minuics h\ the |n\1"l| WO,
Warning Bell will ring at 5 minutes before eloser of examination and the last long bell will ring at closer of examination.
sl 1 WA -YTEAE] T s B F 10 A 9d AT | A AEyEE ' A OMR iz § A qfafLem T AT WEE AW | WA
qfere i @ T e F <F:a-|-.'~:rq‘?§1‘r=r=1'm:rqm | 4'.ﬁwﬁ|1??a‘r TE T A |m‘r-qﬁ=ﬂnm?-rl:rqaﬁq'ﬁmmm
a4z qiiswa # 5 Zaw_feifs aam 9 8 'FI"‘;IFI?, AT A 2 PE QW # AT Wel A1 A9 ¢ A e AR A2 T2 | Al g
1Erﬁr—r ?ﬂﬂfﬂﬁ?#ﬁ'mﬁqmmnr—r T W | SAE g
anﬁ?%fﬂ'ﬁqimmnﬁ'ﬁ aﬁqﬁhnmﬁwwm
Write your Name, Exq im Center Code, Signature, Roll No., Question Booklet Sernies Code, Shift Number and Question Paper Booklet Number
in the space provided in_the Question Booklet as well as in_the OMR Answer Sheet.
aa-qﬁ%ﬂ Trrl}n\m mztr?hﬂf? TIA W AR, W F F FIE, s, A, v -1 @i e, firee s w na giam
With h qucaliurl vou will find 4 |'iil'|hl.hll_' answers marked 15} the letiers A, B, O & 1D, Read each qucmitm C:ll'l_'rl]”}' and find out which
answer, according to you is correct. Indicate vour answer by darkening the appropriate circle completely in the OMR Answer Sheet comesponding
to the question. For m.Lerg_ ANSWERS USC b]llt black ballpoint pen only. Gel pens/peneils are_not allowed.
Wl WA 3 TR g I A, HLHI)'E]L"'_-I' ?|'FI'GT'HLWFH'H?T_*RWWF_HEF_'REHU\]Ruﬁfq'ﬂ'ﬁ'ﬁ"ﬂﬁ;’lmmﬁq1
ZFA T3 1 TR F I AT | R f‘#: H1@ W FR i w09 f I w ) FemaniFae s gmmmatiag
WRONG ( mrewr WROMNE ey WRONG S wyee

[ orTee! \.I-;‘.|'.t'|.| CORRECT /i W rong ‘\1(.'Ihll|| WRONG /e
T coCoe| ™M WOQO||log0o||lcono||ce0e

OM R Answer Sheet isdesigned for computer evaluation. Ifvou do not Follow the instructions given above and at the backside of the OMR Answer
Sheet, it may make cvaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
OM R e 1 Forezs GRT T & ford S v 2 136 s s v OM R iz 5 free: e w s fasi o arem i e, ot seges g sirve
AT A 21 AT |mmqqﬁﬂn°ﬁﬂmwwﬁhwaﬁcﬂ'ﬁmﬁ=m|

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy { Duplicate) so that the Oniginal Copy is not mutilated
inany way. Candidate should handover the Original OMR ('np\ and Question Booklet to the invigilator betore leaving the examination hall.
Candidate can carry only the Candidate \O\Il-lcup\ with him/her. Quullun Baoklet is not allowed to h-. taken by the candidate.

o gl w98 T & 9l Wea F9 F a1 T8 o sk | OMR site Fen ea aan ey afm 2 s ardl s wownee R
BATR | mmmtmaarﬂmﬁﬂﬁiaﬁﬁh:qqguﬁmm o 3 AT el ) A 3 0w Wi A A T A TEa | e e
e T‘ et r)\m ﬁpg ufd v we-qieeE e oA g | et Fee wrh OMR w9 R me o W W | meA -
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